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(3)
SECTION -1
[ELER |
CHILD DEVELOPMENT AND PEDAGOGY
EISRCEAcRC AN BNt
There are 30 questions in all in this section.
All questions are compulsory.
39 @US T FA 30 9 B |
vt wom arfam 2 |

Which dimension of development is influenced by the theories of Noam Chomsky ?
(A) Language development (B) Moral development
(C) Emotional development (D) Cognitive development
forerTa =1 i w1 strm A At % fagi @ wafaa gan @ ¢
(A) v foreprg (B) 3fer farr
(C) T fawm (D) OFHATHS fawm
Individual differences in temperament are basically
(A) Learned (B) Innate
(C) Acquired _ (D) Cu]tqral mm
e § st faftaand snameE €9 9 gt g | o
(A) ferriia (B) SH=Id
(C) e (D) TEHidH
Who has NOT propounded any theory of personality ?
(A) B.F. Skinner (B) Sigmund Freud
(C) Gordon Allport (D) Ramond B. Cattell
ferem saferea & forelt oft fogr=a =0t wfanfem =i fmm 2 7
(A) #1.TH. ThiT (B) Tmvg wre
(C) TMEA 3T (D) e . Hed
Which test was created by Henry A. Murray and Christiana D. Morgan ?
(A) Sentence Completion Test (B) Sixteen Personality Factors
(C) Thematic Apperception Test (D) Picture Frustration Test
T u. g aen fonfeamn <. wifa gra o o wiemn ffifa fomar mn 2
(A) are gfd T (B) Hicig safthed 3mam
(C) YT eI giieqor (D) Ta= puan alierr
Which factor is NOT related to growth of a child ?
(A) Nutrition (B} Health
(C) Sleep (D) Domicile
T AT 1 3G § B B HH Fraf-a T 2 7
(A) T (B) @A
(C) T (D) it
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4)
Which test is culture-free Non-verbal test of Intelligence ?
(A) Group test of Intelligence (B) Weschler Adult Intelligence Scale
(C) Bhatia Battery (D) Standard Progressive Matrices
iF =1 ieqo gigA 1 FEHia-Td 31 -afues T 3 ?
(A) gigw = ayg wliau (B) oR I gfguan HraHt
(C) wfe=n sedh (D) wWuse umifia #feas
Which intelligence is NOT included in Gardner’s theory of multiple intelligences ?
(A) Intrapersonal (B) Naturalistic
(C) Emotional (D) Existential
g3t gfguansti & M % fugra o B @ gigua aftrfoa adi 2
(A) 3id;agRes (B) Bl'lT:!—T&lﬂ;
(C) =i (D) AfEacasr
Creativity is associated with which kind of thinking ?
(A) Overthinking (B) Meta thinking EEE
(C) Reflective thinking (D) Divergent thinking (Ot
eI fa=ad & $iF 8 TR T TEf2e g ?
(A) Ffems famaa (B) fa-fa=m
(C) el fa=m (D) e fa==
The term mental retardation is replaced with which term ?
(A) Intellectual disability (B) Mental weakness
(C) Intellectual backwardness (D) Intellectual disadvantage
wrfaes femfa 1e @ frg ue % a1y wieeenfia e mn g 7
(A) sifgs s (B) wrfH Hual

(C) g freerA (D) @ifge gfcegerar

Which of the following is NOT true for the theoretical concept of personality 7

(A) Stable (B) WNormal

(C) Enduring (D) Unique
sfehedl <hl Agif=ish rarumon o fe i i a s e 3 @ 7
(A) fer (B) Hm=

(C) wur (D) QI

https://www.pygonline.com

PL-2


https://www.pyqonline.com/

PL-2

12.

14.

(3
Learning disability related to reading is termed as
(A) Dyscalculia (B) Dyslexia
(C) Dysgraphia (D) Dysthymia

Ued | gl At semar s FRISAAE |

(A) Teehagpioran (B) fewifaman
(C) Teafr (D) ferursfirn

Children who are deprived of minimum basic facilities are classified as

(A) Delinquent children (B) Special children

(C) Disadvantaged children (D) Backward children

JFau 3R gfaenaii 8 dfud arerest ol fe s § arfied fha a2

(A) 39Ut sTeTw (B) Tafsre sraes

(C) whagpa witfeafa aes (D) e so

Which of the following is a behavioural symptom of maladjustment ?  Egm
(A) Aggression (B) Anxicty Ol
(C) Insecurity (D) Apathy

fm 3 & A o1 PEHEISH 1 RIS TR B 7

(A) HATSHTHRAT (B) fe=

(C) g (D) Serefiar

Which method 1s NOT directly related to children with special needs ?

(A) Diversity of curriculum

(B) Development of sports and extra curricular activities

(C) Different teaching methods

(D) Traming for special activities

ferdry srarzarehaTal ATt AT % w1y i W fafer e w1 @ w2 v
(A) TTGIsHH 1 fafsriet

(B) Weige d afafies mrgasy nfafaferd 1 fawmm

(C) o foreqor fafert

(D) Term wiafafemt = fo2 sivego
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(6) PL-2

Classical conditioning theory propounded by Ivan Pavlov explains learning by

(A) reinforcement (B} association

(C) imitation (D) insight

T diserre g Sfaofea wmefi sErem fagra srftrm 6t fra & gro awsman 2
(A) FeeH (B) urgd

(C) (D) e

Which of the following is NOT a process of learning for children 7

(A) Reflection (B) Argument
(C) Maturity (D) Imagination
= 1 8 1 arerehi % fordl arferm <61 afshan 78 2 7

(A) Widfaaq (B) @

(C) frerer (D) T

The concept of reward and punishment in leaming is introduced by whom ?

(A) E.L. Thorndike (B) Kohler & Koffka

(C) B.F. Skinner (D) Albert Bandura

Frferms o TeRR 92U i SR fheeh g vEfa I T R 2 om
(A) 3.Tel. YT (B) HIETR d HIFH s
(C) .o, Whi (D) e T

Which statement is NOT true for the concept of learning ?
(A) Learning is the change in behaviour.

(B) There is a relatively permanent difference.

(C) Learning is influenced by practice.

(D) Learning is an innate mechanism.

FAferT % TR F fo7 S o1 FeA T T 7
(A) e sgEgr | ufEd 2 |

(B) 3remmeha w9 & syt 3t afierfé giar & |
(C) aiferma sy gr wanfead g1 2 |

(D) 3ferma v S=ysira gfaen 2 |
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19,

20.

22,

N

Concept Mapping in Education was introduced by whom ?

(A) Carl Jung (B) Martin E. Seligman
(C) Noam J. Chomsky (D) Joseph D. Novak
firen @ sraemon ot frees g ganfaa fen mn ¢

(A) et 1 (B) =i . dfemm
(C) m . FETh (D) SfE® . TEH

Which type of teaching is NOT based upon objectives of teaching 7

(A) Cognitive teaching (B) Descriptive teaching

(C) Affective teaching (D) Psychomotor teaching

Fvegor =61 st w1 wehr e <6 el W st i R ¢

(A) HHTeHH fonegor (B) aviareds freaur

(C) wraTewsh farem (D) wAFTTE e m

A group creativity method for solving specific problem by gathering a list of ideas
spontancously is known as -

(A) Brain storming strategy (B) Mastery learning strategy

(C) Problem solving strategy (D) Heuristic strategy

Fafiferan & foami At g= % v % gra fafire wwen & qmam i ayg @A fafy 5
EE iGN

(A) wuferss favera gfe (B) wafucy arferm feh

(C) wwE FMaH Ife (D) = e

Which process 1s NOT directly related to role of motivation in classroom learning ?

(A) Knowledge of progress and result (B) Interpersonal adjustment

(C) Praise and criticism (D) Level of aspiration

et Afer 3 s <6t syfwent foha gfshan 9 geaet w0 4 wrafa @ 2 7
(A) wifa auur aferm 5 §9 (B) 3r=qdafther A

(C) SI9TGT T SATeA =T (D)  TRIEAT T
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(8)

Which is the main philosophy of National Curriculum Framework — 2005 ?
(A) Learning vocational skills (B) Learning without burden

(C) Learning co-curricular activities (D) Continuous and overall evaluation
TP Tl FR@I-2005 1 [6T g F 2 7

(A) SHEHTIF Farerar Hig (B) o ater < g

(C) we-Refires nfafaftei wrdem (D) gaa g = e

Which statement is NOT true for Right to Education Act — 2009 ?

(A) Free and compulsory education for every child between 6 to 14 years,
(B) Provision of School Management Committee.

(C) Constitution of National Commussion for Elementary Education.

(D)  Minimum 60 hours of work per week for a teacher.

Fren =1 rfersm arfefam-2009 < ford i @ o v 7 @ 2

(A) ®: ¥ €Igg T4 h Y aTeTeh % ford F.3re 9 srfamd fren

(B) Taarmera vy afafa w1 weeam EEE
(C) wrafies frer < o1 adia s =1 e i
(D) 1eATTeh < fordt ufd wHT8 =aw 60 =gl &1 HE

Who has NOT contributed to the development of Action Research in Education ?

(A) Kurt Lewin (B) B.R. Buckinghum
(C) Stephen M. Covey (D) Stephen M. Corey
Faven 1 Toparerh srgeen < forepre § foraa amem = faan »

(A) & dAfaa (B) .31, afdhun
(C) W TH. B (D) W% . B

Which level of measurement is least used in educational psychology ?

(A) Ordinal scale (B) Nominal scale

(C) Ratio scale (D) Equal interval scale
foren weifasma 1 form Tt % WA o1 =g = R S g 7

(A) FHgES arTt (B) =it Aot

(C)  Frrtfere AT (D) HHME F=trel qial
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28.

29.

30,

9)

Which of the following psychologists is NOT related to theories of child development ?

(A) Jean Piaget (B) Abraham Maslow
(C) Albert Bandura (D) Lev Vygotsky

o TR 3 & i A e % Rigrat @ vt 2 8 7
(A) S T (B) 3¥siTeH HiEl

(C) Fead dgu (D) e IrETicehl

Which method i1s NOT valid to study the role of heredity ?

(A) Twin study (B) Parent-Child analysis
(C) Adoption study (D) Peer group study
AT 1 Yireh! < e < ford i i fafa du 7 2 7
(A) S[eal a=di 1 e (B) aAftrvTaeh-sTers faverau
(C) TTh-UZ A (D) YHITER 98 AT m
OF 5
The observable physical and psychological characteristics of an individual is termed as
(A) Prototype (B) Karyotype
(C) Phenotype (D) Genotype

us A i fo@r & areft g qun wamfe fovmasti 1 % w9 § ufonfya e

FEe |
(A) WIERTE (B) HIARET
(C) hHRREY (D) SRRET

According to which perspective, child development reflects a specific and prearranged
scheme within the body ?

(A) Environmental (B) Social

(C) Biological (D) Psychological

fepm witisa & srgam anet ferespra iR 36 3ret o fafine qen qeferafera someft =1 gufar 2 ¢
(A) drarERei (B) WM

(C) S (D) =TT
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33.

34,

35.

36.

37.

38.

(10) PL-2
Qg
YT - |
e
79 QU 1 el 30 I ¢ |
asft gw HfEE 2 |

1 &% 311 &
(A) I (B) fagm
(C) Feu(A) W@ EHadl (D) FHARETE

S 9 T 3¢49E Ud @ faug @ o 81, 98 e

(A) AT TR (B) e Syame

(C) Hehd1es IuaTe (D) TYH 3IUETH

Irft SETer’ HETa w5 o1 3 ;_E!
(A) 3TIETHE FET (B) Tt wgaa =

(C) &=t (D) ©HE @

‘O - Tt 8 e faamn & 319 o Sugem drebife 8

(A) A9 @ TR 9@ (B) 19t Tt ur ah

(C) T3 HITr A Iz (D) 313 IR BN

faenfef=i =1 qeahi & e @ i g@ @i ve fafr s e s 3% e e %
v 1 & fopan e 2 | 34 fafy 1 a1 ST 2

(A) s wamreren fafy (B) mar wEn fafy
(C) g -geh faifly (D) @ fafa
Eleed Tl shi aATfashr fohad T 7

(A) Tererafess T (B) SweAad

(C) woeHd | (D) qrhas A
I IUNTH & ATAR fen 6 Fradt ufseen 9 wftifera o @

(A) FTHT=IRT (B) ST T
(C) Rt (D) =HEER RERH

YreX ARG hl JATEvaSH Id T8 7

(A) i@ forad a+a frgres faenefi 1 agrerar 3 %1 |

(B) Iei@ TR dicreht forgarn |

(C) i@ H Hefl i F7ae Ieft & g =nfee S 6 angf cr@ i &1 |
(D) 3uger wft forehed gt € |
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39, w1 fSreAu <Rl g7 -51e HIUH 8 —

(A) e ferames == (B) THIEH
(C) = (D) ATHEH
40. T U IIEATEH < =i w1 H afifed aw 18 @ -
(A) WSl (B) Torwa arh
(C) fFeeg (D) 3refi
41, Frefefiga 3 & v gerpeE S Am BA AR 7 —
(A) e g § gfd (B) T@TeATd & faw aramm 2

(C) faweu (A)wd (B)SHiwdld 1 (D) T & i A
42, 3 @ Hifgs whenai o g -

(A) Th foreren ok am 1w 2 o bl Tled o Hehdl 2, o1 gHa 31fYeh e g |

(B) wifiaeh alienadi =1 axgie T& s S g |

(C) % wiienati @ foeneff & o9 sorft vl — g, e 31 Sie %1 U W A1 fe

AMHRA R |

(D) 3 Temnat @ faanefi % S@a e w1 AT T8 b 8 |
43, frafafiga 3 @ srafe aiem & fmin g affam i da sR o e =i g 7

(A) TET ASE1 ' | (B) w{teqvr < WRfHes 9 <hi 94T AT |

(C) ey 1 gAfz (D) W&o =1 AT
44. Taq Ud A9 YedThA SUTE H1 Y 8 ;

(A) 37T guaT=R § B arelt wier (252) § fomneff @ 9 srememsfer e € |

(B) Toveges famneff @1 srmavas (dym vd qumst o ¢ a2 |

(C) Teremeff =i 31t wfirdi /1 w1 fer B @ B |

(D) Teremeff o ad s olizn 1w =41 @wan 2, Fred 35 wnnfas fawmm gwifaa g g |
fAfafiad e & ST W T HEAT 45 9 54 T 6 I ST ;

A T T AT T W Y Sl ? i o WU A THE i A, e &
AR, &G &l @ WHHIAA WA hl dAAH AR AL % @F H1 guE Bl & a1 gald AR
TETeHhAT 1 gaTd (&A1 2 | fan stftes o= aamendt g@m, sa @ sifess 97 3t el 1 aialy
A U TR, TEA1 3ot & ATereh T%el gF1t | 39 TR T8 T U a1d I8 i Fmer! =1ee fh @
AR faar i gafga sun, 99 92 ravas T8 @ 6 gga = e 30 @ i d '
Sl fop =1 @ qd 1 wotE § Hfeud A T ot | R Az 2 6 wafea g A hrn d A zm w
Fead 1 2w ol FE | 39 78 2o 39 fRaar 3R H 95 SR, 98 wH fAu S w1 AR
Ty & A | 78 A T % 918 & T Sar 2 {6 e = e 2 )y & wersfa J va fafgard
TEd 8, 3 3a4 vt sraand ot gt €, faek wfa = e w9 g &, 98 smavgs 38 | gg
a1 a1 2 o Tan 18 Frem 7 @ 6w = i 3 € s foaan sies 3 = 2, o' 58 W
11 arferes oft S TRt 2 3 i -HR faada ft a9t gnd) 2, 39 T TE 2 | 9 e
zard 39 Hoft < s T ot 3199 9T ST 8 | gt S ed | 6 “foraa gumem, Tl ag”
9% T8 2 | TP etk <l auEn 331 IH % 9@ oft, oy aedt e @ and’ gene <6 sfteo
IS TR B T |
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46,

47.

48.

49.

50.

51.

52.

33.

4.

TAEI Iee A & YN W E —
(A) dHd
(C) feesft

‘HUTeRt 1 TATFETH e & —
(A) @A
(C) w9

(12)

(B)
(D)

(B)
(D)

RiE

o
Hefd

‘Foraehl dagm F w1 4 arqyfa g 3 |'W’f&1%%rq3j'gaﬁm%—

(A) wd
(C) wafed

(B)
(D)

. .
e

‘WA W i faeim wag R % fore s o suwe v Em v

(A) &

(C) 3

‘Al v § WY ToId & —
(A) €

(C) =
Fafemel” g dfu g -

(A) v gfy

(C) TorEf

frafafiad e 4 9 3= AE 2

(A) fers

© T

‘AR ITeg H i HI WA B 7
(A) - G

(C) FEaa™

‘a8’ vse § G g —

(A)  Frowrares gdam

(C) Taar=s wdm

‘A T eH R 7
(A) cAfFTaras O3

(B)
(D)

(B)
(D)

(B)
(D)

(B)
(D)

(B)
(D)

(B)
(D)

(B)
(D)

3
I

ﬁ’é}l
Cl
=

HEUaT S
Afv=TIETas 9d94m

WEaras 91
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55.

56.

57.

58.

59,

60,

(13)

frafafaa ey & mam W 999 T 55 3 60 9 < 91 & I S

ST, o, TYUETE 3R & <1 STHT S U ¥ <o €l AhITar O w1 A1 Hebal @ | Tt
$ UY 61 g 91 UL 4 8 Rl 37 9l 92l 1 31t Uy & wro1 g awa 8 | ug 8 i fafi=
wrend 8, e 8, s 8 i snfert &, ara: vp & faa o o wuri awensdi w5 st oo &
&1 e | wifgca R 98 S Gva 2 i arfgcs ardta gedt o1 dur 55T i T 8
ag =4fga =i faf= o A fawnfoa =8 war | ‘Sfaar i amn’ § gt g Fi afie 2, 99
faar a1 wifeca < 3= ol gro serfi <61 et & SireT < wehdT & | 98 HR YRy o gan
2 T 3G sk g ot fewd E e | wen ik wifw # It ek weR-wEm g
=rfeu | wuTeT S -wdier, e, dfar qun w=i-amtan s gr e e o T wewE
3T T T AT ST AR 2 | GaTER, T -, e, gtee, feen anfe arem
78 T IR & 3T T 3R oft 73 @ 7 | el g an g’ vies fia st w1 srgmiia
AT @ AU TP & ufd gl d<ad g4 & foru uftm s 2 | 36 won & v afe adafes
TeTd, TTfac G i a R Y B Uehdl o 4 H 919 Thd & |

(A) STl (B) ™

(C) T (D) ifd i
Ea

fenmar’ oreg w1 19 2

(A) ahien (B) u&Tt

(C) uZErat (D) Zrnfaa

‘TR AR R @2 "I IR A FAS ?

(A) AT TaqH (B) 3151 99

(C) ol adw= (D) T IaHH

feren’ w7e & —

(A) 3wafem (B) gfeem

(C) AgEhicHT (D) Eifem

‘sAfdd’ WIeg 1 dga= ¥4 T :

(A) cafdh (B) ofadea

(C) oafeai (D) dafEw

TSRl 6 9T’ wIeg 1 9 fE ¥ 2

(A) ST (B) SIS

(C) wrem (D) |l
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37.

38.

39.

40.

41,
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SECTION - 11
LANGUAGE -1
ENGLISH

There are 30 questions in all in this Section.
All questions are compulsory.,

Words that are understood and constantly used form

(A) limited vocabulary (B) active vocabulary

(C) passive vocabulary (D) constant vocabulary

Dr. West’s comprehension test was ERE
(A) non-linguistic (B) linguistic OF it
(C) comprehensive (D) structural

Variables can be interchanged in

(A) Simple substitution (B) Compound substitution
(C) Grammar (D) Phrases

‘New words at early stages should refer to objects and actions which can be shown and
demonstrated in the classroom’ 1s a precaution of

(A) Structural Approach (B) Situational Approach
(C) Bilingual Method (D) Direct Method
The exercise of listening skill is
(A) Sports commentary on a radio (B) Advertisement board
(C) Pamphlet (D) Poster
Which one of the following is a measure to improve bad handwriting ?
(A) Use of ball pens (B) Wrong habits
(C) Proper posture (D)  Writing carelessly
is not a technical characteristics of a text book.
(A) Proper spacing and margins (B) Good quality white paper
(C) Lengthy texts (D) Readable size of the letters
‘Blackboard” is the aids for teaching.
(A) technical (B) cheapest
(C) modern (D) physical
Audio-Visual aids save
(A) money (B) interest
(C) effort (D) wverbal input
Students improve their critical thinking in
(A) peer assessment (B) portfolio
(C) cloze test (D) writing tests
CCE is carried out in classroom.
(A) strictly (B) formally
(C) informally (D) timely
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(15)
CCE is not successful in
(A) private schools (B) crowded classrooms
(C) small classrooms (D) government schools

For a good test in English
(A) language must be lucid and clear (B) the text-books must not be used
(C) the questions must be complex (D) the questions must be simple

‘Matching Test™ is an example of
(A) Short answer type (B) Long answer type
(C) Essay type (D) Objective type

EEE
=%

Read the passage and answer the questions (Q. Nos. 45 to 49) that follow :

46.

47.

48,

49.

A marriage as early as that was the last thing on her mind. She threatened her parents
that she would never marry if she did not get a proper education. She left home and got
herself enrolled in a school in Delhi. When her parents refused to pay for her education, she
politely informed them of her plans to earn money by working part-time to pay her school
tees. Her parents then agreed to pay for her education.

The synonym of ‘refused’ is

(A) granted (B) demed

(C) permmtted (D) allowed
The antonym of ‘politely” is

(A) courteously (B) humbly

(C) rashly (D) angry

The correct spelling 1s

(A) acadimision (B) academician
(C) acedamician (D) academision

The verb form of ‘enrolled’ is
(A) enrol (B) enroll
(C) enrollment (D) enrolment

‘Part-time” stands for
(A) working less than standard hours (B) working in parts
(C) working in obligation (D) working for no remuneration

Read the passage carefully and answer the questions (Q. Nos. 50 to 54) that follow :

Friends had conjectured that the bear would not recognise her. I had thought so too.
But while she was yet some yards away from his cage, Baba saw her and recognised her.
He howled with happiness. She ran up to him and petted him through the bars, and he stood
on his head in delight.

‘He howled with happiness.” The underlined verb is in tense.
(A) Present Simple (B) Present Perfect
(C) Past Simple (D) Past Perfect
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She ran up to him and petted him through the bars. The underlined word is —
(A) nterjection (B) conjunction
(C) adverb (D) preposition
Choose the conjunction :
(A) her (B) within
(C) the (D) but

ERE
The determiner is et
(A) and (B) had '
(C) the (D) wp
Choose the correct comparative degree of *happy’
(A) Thappier (B) happiest
(C) more happy (D) most happy

Choose the right question for

She sold all the articles for no profit.

(A) Did she sell all the articles for no profit ?
(B) Did she sold all the articles for no profit ?
(C) Does she sell all the articles for no profit ?
(D) Do she sells all the articles for no profit ?

Choose the active voice of

Saina had been supported by her maternal aunt.

(A) Saina supported her maternal aunt.

(B) Saina’s maternal aunt supported Saina.

(C) Saina’s maternal aunt had supported Saina.

(D) Saina’s maternal aunt had been supported by Saina.

The saint chanted, “God is great.” The indirect speech of this sentence is
(A) The saint said that God is great.  (B) The saint told that God was great.

(C) The saint said why God is great. (D) The saint said whether God is great.

The word for the phonetic transcription / I'mu:diatli / 1s
(A) emidiately (B) immediately
(C) imitate (D) immediate

1e number of vowel sounds is
Tl L f ] d

(A) 8 (B) 12
(C) 20 (D) 24

“The knowledge can be stored in mind permanently.” This principle is termed as
(A) Aptitude (B) Gradation

(C) Concreteness (D) Selection
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(A) mTeafy (B) vd
(C) Teafd (D) Fifd
“Aeaae e 3t Y fafem waafa 2
(A) wETERfafiy (B)  smmEfmEfaim
(C) weaafafim (D) aratemafafemn
“xeyetid e wfa” i fergead 7
(A) Treorpem (B) 9ISASHE
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38, TRGHAREATRT FFAIYAY H: g ?

(A) FaTHIS: (B) wHfeEy

(C) widesfa: (D) eafy-wfiema:;
39, HeaTge yHTdeha gfafey sreeTriermn: qute: %7 Jfeq ?

(A) Tofgariemam (B) wifigenadizmmy

(C) wrRIfTeRTderamg (D) CETadtErEy
40. TEHANETE HHRTEE: AT —

(A) sname fagr: (B) Toramsfieamn: fagra:

(C) w4 fagra: (D) fergies fagr:
41, HATHATIY: 9UH QY 3 —

(A) Fieom (B) FeEOH

(C) Fem: (D) Ttequm

- EI;EI
2853
B,

42, s wrafaensfiey Seremfe -

(A) oG (B) e,

(C) 9r=Aq (D) 934q
43, TaaqeaTg fueres gere fey wafa ¢

(A) TEaHATETH (B) Wy

(C) &auy (D) wigq

44, ‘grErdE nae seafer fadt gafad gmmmte -
(A) & (B) @
(C) vy (D) e,

famfafigan amfad e smarisa yoA: (45-49) Tarean: -

T WRE 1 <ayfa: | yRae IO gepefsRmfvr: fearer am it fausa | gfeor T3 T
YAYH: UENETe Fai-d | T TRROT TEHeUe Ud H2Ngart T &= 315 | o femams
A TEiafaes-g: At gvifaa: Sa: | 316 | 9z didl U9 Uad 29, 39TTesd | A TS
UfaTiareh Wimifereh |t = T 9 | Sohd: ied q STavi-a |
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45, “ggwerd’” sead o favfe: ?

(A) ST (B) qdtan

(C) =gt (D) Tl
46, Tl goam At -fasse: st |

(A) = + = (B) T + T

(C) ¥ + 3tfers: (D) T + s
47, “foed” TA9 & AR 7

(A) e BN (B) & @HN:

(C) ©g AHBN: (D) fafuferg erm:

48, “udifad:” 399 &: T ?
(A) ol (B) &F
(C) = (D) A9

49. “Gaqi.” 3o %: wAE: 7
(A) IreFdivmE: (B) dwgeu:

() wgHfe: (D) fam: o
h

Frafafgay smfed Tarm snurisa Frafgan: v (50-54) Fadan: —

Terue TRrgamy Seenerr fud dengt wnfwerfiaamendt: fiffay fafwe gig afe
AT Fifer et adreeg; aft g 9aw yRdEEi safa 39 ufa irayageneafa | ardi: aes
FeferRT: AT YT, TR, WIS e gaa Teaehied THeateeH 9 gfaad
vt | fovafaemay smoifarriamm- o afitel Sdesemay SHesaTe gvHEEg
3t |

50. “SH9e” TF = faufa: ¢

(A) Wit (B) =t

(C) wuH (D) oeHt
51, A< o e —

(A) #H (B) 38

(C) w1 (D) g
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(C) yz=ygs s piafaa gmr &t 5831 =53

(D) mf=a3

Hfenit &3 foue oo frre s Aefas faft T

(A) ¥&= @ nrrs i fexft (B) g fyeQ= fedt
(C) Taz-UfFs & gre=ar fedft (D) TrersrH fadt
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38. HIs as < fean Bet 39 S fafanr T
(A) Hed fous (B) »muHi gisuT=
(C) IHE (D) Efod3

39. g fAfinr T g9, ‘yIs IHin I3 HA Geges I
(A) 974 AT J OF & WUd ¥ o wifgpw3 ST 3w o |
(B) EevdsiIufgem v fyGe |
(C) ufest fearst T 2 »9g a9d wee 3 feg wivg fmrEer |
(D) FWIsHE, Tdt, Tan § e |

40, T fifemr o o fitye feft fam faas "I wrofas 3 :

(A) mIfeaz e fags (B) fafan iiwzr o fhgts
(C) Wau3IgH e fags (D) =SB e U3
ERE
41. 32 famrar3fua Uy < Gert Syt a6t Quiratt fifimr 3 Bl
(A) fedumufa fifimr (B) =W F3T3fua fifimr
(C) =nasfeas i (D) fady By yargs i

42, W fifmr e Gen s 9
(A) T893 yarer 995 &1 Garg o HaTae
(B) sfoni <t 3afaa 3 f93a aadt € feam v famrs
(C) v+ fearet &t fifipr S 3wet s& A9 |
(D) 3= ufes fen =g <1 3 mH f<9 gaaet |

43, yEIrsfue ydhie St 3adta I

(A) Ifad araat ot faarardt (B) s9&foz foprugeray
(C) =wgfams ifimr (D) S ferdft
44, G193 A=g, B 3 69796 378 7Sz o T96 J957 © HETde gt §3 fifr fadt g
(A) Agfers fifumr (B) fodurafia ifam
(C) Wi fffem (D) fouz fifimr

= e

(45-50) I3 fou Ig Sz AnEB 399453 50 Ta v F3a fel .

3T T HEY 2 IR a8 FW HEU J | J9 U, T w3 T 2 B uFT I gfes d2 98 1 959 3
d50 e e s A uF o i IRae J | Joa i i st s A Sa gt v dur 7 | il
T "3 83 o gt v GeH Aed vyt ugTE dHT3dl Uae 3 AETYS g9 J | Hags fege T
fuzrdt 9 3 wea G &1 /et 979 § Aud THve St agdt HawT J | e Ihof &a 53T g Uart fegm
w3 Afenrarg gl Ifenr I faoa fusdt 5 93 g=s Y wlose sefer g
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46.

47.

48,

49,

50.

(31)
g f&g nrfenr e mee 3
(A) <t (B) wargsl
(C) =w<H (D) fJ<ht
(A) vzt (B) wigga
(C) =wt (D) Haardt

‘Fod” o fegtt mae

(A) dar (B) w3

(C) I3 (D) IHB

WIS BA I T HEe J ; ERE
(A) 3yt (B) wfge E
(C) WHeag (D) HATaT

‘TG FEE T HPHITS HEE B T

(A) wrer (B) arfoer

(C) fAgdsaa (D) TaG&

‘oM HET TTAHGIEA e J

(A) Sugz, afirg (B) dor-=Hlw, 83
(C) aHT, Quas (D) afiw, samar

(51-54) IS T I3 g I AR 8 &89 51 354 < €39 o

e yeg & 7 3 &t Qa3 fome mifefamrfsa 3o 3 | form o fefonradl & fonras

o {t wierar & warfen v maer | fenfaast adf adt safeg fefonradt 991 99 & 3 Hfge &9
T AR I8 | wifad fefenrad! 39 & Jg 9n € T w3 gfmra fefonradin ervara €382 95 1 o
FITTT Hignd AH BEL 9d1dT &1 J=<ar |

51,

fonas Fee T nige I ;
(A) feamg (B) W™
(C) H&HAST (D) a3
WITHT HEE 2T MIg J
(A) I35 (B) gH'E
(C) gdtvat (D) fagdt
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37.

60.

I Tafant f&9 ufSara :

(A)
(©)

9
na—f-!

(32)

(B)y
(D) WHIE

“feg =gz Afemiad o St 9497 &d1 J=d I - T ¥ I8 AUHS 99 :

(A)
(C)

Iy
TIIHE B

(B) F3AH
(D) furfazas

‘FHE 34 3 381, 37 481 &7 JS1°

HYTE T A MEg T

(A)
(B)
(C)
(D)

e gTdt ferer Jar R IFgH A Jar 3= |

7o godt fewer et g v W IR | EEE
S et iy wodt ford St | s
e JE gt fou@ 3% 998 BT I |

PL-2

fHIE3 998 T8 WEY I8 U 99 dt 7ie7 J | 39 €9 »e Ho'=d ‘TITAT U q9&T 27 ndg

J:

(A) &EtEUT aIaT
(C) WS HI™Hd dH JI&

(B) =93 niaz 9 faas a=
(D) B E3ITAUT AT

Hd fuzr i nig filz a8 g - e 39 feim 93 .

(A)

() fuzrfifizae

Ha fuz

(B) Wd fuzr+Ht
(D) wAfiBaeas |

T &9 g -gua wim <t ghiar fagr@dt 7

(A) waea fafen (B) ¥Wusd fafanr
(C) W fafgnr (D) a9 fafanr
T Tafimt 123 ufget fanims s 3

(A) H (B) ®

) = (D) T

SZEh ga & 99 34 29 fddtw w3ar It g5 2

(A)
(©)

14+ 10
14 +8

(B) 16+ 12
(D) 14+ 12
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31.

32.

t
L

34.

-
n

36.

37.

38.

(33)
WS - 11
ouML- |
eyl
L ASHLSE 30 WAL 6.

€35 UL vellol 2L 5 [P 65,

[GignzllzAn WA esell A Yol WAl 2L orellol A, 51 58 gl R 2 8 7

(A) -ugdlszel (B)  su-t-ul

(C) [Asa (D) dllc-{Gx
el s sl vieealxnAL e 7

(A) Q-3 (B)  sa--AviA
(C)  dlud-5u4 (D) A4~

LUOWHL WRAIRAGIHE Y[ARAE, UHRUIRIA A sriacul FenelAiml sa Sl [srd
61

(A)  HMdRIA Slaed (B) HselluA Sliey

(C)  @mi slied (D) A4 5181

Ali-riel 56 (el wglami darzell viq Ao vid UsIR-AL AUNSIA Eias- HeledA A S ¢
(A) Al vgld (B)  ilois[Mct 222

(C) [ e wgld (D) wuL gld

UM st AesEl Wiz st 2A8S el AR LA 5 9
(A)  aHLlast (B) wselual
(C) siAsia (D) 2wEs1

HIGAMLAL Rets 2AidRs ariel 536 ¢

(A) s (B) gl

(C) [Auusrq (D) el

ARl s gL [izisA w0 otud £ 9

(A)  AdpilEL (B) ™atuld

(C) £& Ul (D) sl [Rela

v, MRl [s81R'S §1d Yl CUd £l W2 DRIl RigAA 858 5 9
(A) Beoux g (B) ®tadzel R

(C) @teulda Rt (D) sl Raer
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40.

41.

42,

44,

(34) PL-2

WLgARAs AR 88 slotd HEEIU A UKL ¢
(A)  [ARuellRAiA 2az2- 534, (B)  [Riatsl Mgtd A s34,
(C)  [Feuedl aid Sl Bsreszan (D) [igsA yd qGuEl sza,

Hilns s212] g1z [Fzueil-n s Siaeu Heuls Al e a1 &
(A) ALl (B) <l
(C) su- (D) e

A2l 53 2434 Al Gl el ¢

(A) =dad (B) [Aeid

(C)  [ruz-lrar (D) 2108 ¥l

(AznellHl @liet 2AGe il sl sza ARl s U51IR-AL WAL 2 Eullall oA &
(A)  ®ssl sl (B) ogldsen

(C) 251Gz usR (D) [Aot usik

o[zl 2L 53l <A AR 58 UL A 2L 2] 7

(A)  [Frugad wHE R (B) o MHIGLABIHIR

(€)  [Aenel-l B3z WS BIER (D) WH USIZ MHISL ABIHR
ARl s e g1 (el AHaeed Yeuisd a8 2 © ¢

(A)  Wsld Wiledleis (B)  2e¥is

(C) wzuacl (D) Helsld e

2ATLEL ALURAL AR WA 5HI5 45 2L 47 YellAL oveuot 2L :

51U Al ¥ Qe ey sl aval, dH Qe 2 sietfa Al 2l sieuladl 2u e

s G 95, ofzllAuAnl WL Y ZEl D15 AL d2al d FSIA eIz AHsAlol oi-1gdl, 1 o 2ld

A5l €llEl 21 e AR A AL A HOAAHL, SHRAL ARLAL SAUML S 244 51 510

oAl As Al U6 vzell da, dzd d sl 2R 0 231 Ml wlbdziia 2ise sal Ras

N . . .- e o - N T R = -
SHL A IIHL A Sl 5L HNALY, 5 ? el a-lL g2 BH DAL o ”xll:ﬂ‘o'l, LR MEIR Bl 3ld szl

et [estl5 Al ot el 26321 Al WHEL Weal SRaL TR 2 5,

45,

e AL WAl Wl 22 55 6 7

(A) =512l (B) el Al
(C) [z (D) Gl
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47,

48.

49,

(35)
BI51UAL HIZ IBIUHI SLAL- 51l BELEREL AMAML DU 6 7 21, [ 2l
(A)  ofMlEUAUNL, RAUTAL, B HOLAH, 2ARAL
(B) =, viMilagaun
(C) =R sullEIl, 245l

-

(D) uA, Szl 2ARMEAL 24

LAME Bl 2194 =il 53 2l usi ¢
(A)  Hsiudil wl (B)  idtcti-{l 21l

(C) sl uBA (D) Szl uld

AL HRULAL AR WASHIS 48 20l 49 el ool 2 :
22l (S o3 dl 23l 531 vl
AL 2H Hasle) HAHL HIL oyl !
(ov Mt &S At U g S v,
(g el godlt Riey 2L oy ! e

5191 581 % el 12l WEL oveyi-L ! =

gluell (e uR S50 @2l e

Al [ 45 2 vilaa s lus 6,

51 ALlDAHL ML UL vl

W5 UHAN AHE, § A Ht-L gL 8,

6% VA A2 2151 ¢ ovedleAL,
52 85 el i, - el sz 6245 € 9
(A) s isst Bigul goll (B) [azuon wygl oll.
(C)  olloaAl Wadl el (D) el o Ml Hrd 264,
sl g Ml s 58 218U 8 ¢
(A)  Sis2= @vil a4, (B) sl el oy Al 48l
(C) sl 2ucuan. (D) sl g:vll o 2L,

“Yelloy AL Ml 2106 2 201 ¢

(A) A= (B) zey
(C) st (D) [@2
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“ERILES" UOEHL HIL U6 5L UUH AVIEL S ¢
(A) 5 B) &
C) g (D) [
Gl Gyt dXls leill UGIEAL, 25LE 5EUAL SRAML A AR 5L VAESIR 5SAA & ¢
(A) 345 (B) Gelail
(C) <uldzs (D) Guu
ALzl RroRlell se- siRel 526 ¢
(A)  AHAAMEN (B) HeiAdLIU
(C) vl (D) AAHRUEN
ALzl 53 ue ARURAS ue & 7
(A) [ (B) Ul
(C)  avwilan (D) Geu
“Wlee WAL A AT A, 28 TR Al HAHLR,” ML [ARMeL e 5385 0
(A) Wi (B) w&
(C) < (D) W™
UL YU 2 DA L 8 ALz GdSI0HL 5RAL

(A)  HISRAL YA A DA L 5.

(B) IR A 247 2A1E el el E =
(C)  HIGIRL YA i 2ilE sl QR ”
(D) G YA DA 2l 2=

“sl el HL 2419l A2 51 AL’ Al BAL USRS ¢

(A) g (B) iy

(C) usa (D) sloL

“biLell elist slstaal” el iRl 242 o 4™ 7

(A) viell slsl WiRal, (B) sl [H2uRl s34
(C)  =Aigst (Gl szal. (D) st [zt s34l
Al 5L WOE AcUH, 206 6 7

(A) & (B) Hé

(C) sId (D) sm

AR 58 Mg [AnL [l el e RS 6 9

(A) ~wdlsreivugld (B) 2444 wgld
(C) v vgld (D) 2at=21 Wgld
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62.
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64.

37)

Qs - 111
HMET - 11

f&=d

THEUS T A 30 WH & |
oft wv sfam 2
frafafiga Temm i gget y3a 9% 61 T 65 dh & T3 & I S
Fieft & greft 5@ w2, fire T war waw # |
U T 9TE 32 U3, defai &1l defdi 9 |
7 we fiR, 7 que iR, %e e a1 TIps il |
wgd Tgd AR gve R, v o &3 fashet forque iRt |
HaTe Full 3@ @1, Haet 01 1 7 qHE oA |
T2 SIS Tt LAl AT 11, 98 TH T ahl WITE1 41 |
Tt ek YU EH -, T 341 Tgarel o |
© HETY W1 {9, THI HI&Td FHI1e o |
T -e dha] Y- H, Ideh 94 TAT U o |
TOTT T < =1 H, 9 77 gl %l ITeAl 2T |
TR 3 &3ft <de 9 WX, T TATT <hl HIST T |
92 <Ie 181 FTFds W, I STHAH TS o7 |

WA 9a™ frah T s @E 9 7

(A) T & G1arh & | (B) HHM % 3l &5 |
(C) T YHESH 7H f2 5 | (D) 39HH ¥ difed <k |
HIE &1 gaT ¥ TTeA1 U <l 3194 8

(A) gd oS Q%M M |

(B) 1 g1 <l =Isfg A wilel €S &l 01 @1 T |

(C) a1 & M |

(D) =dh =181 &1 & Taed 9 & T dsit o g @1 o1 |

frefafiea 4 4 feo dfdq 1§ Te digd 2 ¢
(A) HaTS HEL <@ T8, hael T I 7 TuTe A1 | mRE
(B) T 3 =hfi =iefeh o R, 1T FATT =T <hIST 41 | el

(C) TT ST 3 TS H, TS T &1 I I AT |
(D) &3 %ve i, 79 g iR, e e a1t W ape i |

TR <hT HTNT
(A) 31 dre=a 61 7= | (B) <91= vee wuH 3= |
(C) Termsft wreg wam 2= | (D) acHH &g 99 &= |
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67.
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69.

70.

71.

72.
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74.

(38)

T 8 gord: afifa @ -

(A) wYfH 6l W& Jgy vd g&F B 33
(B) uM T8 gro 92 S &1 3199 |
(C) =deh =i farferetan |

D) uH g &1 319 |
‘oI 31 4 et | a2

(A) Heharelsh o | (B) 3<o1eieh a1 |

(C) Taereras o | (D) GHTSHIAF AT |

‘e STd HTAT GgTal 1 A4 8 :

(A) g F=TRt frehe | (B) =qus fe@m |

(C) HR-BZ HE | (D) =Tl AT | -
‘Thell e o HaY § IHAT HYH 2 Ghesh

(A) el 1 T e T BT g |

(B) Tora =3 aet whi saTehtor # hal HITH Fad & |

(C) al S | favfe 1 T Hepeieh fopan & Ty o A & 8T 2 |
(D) el 1 ITfeaes 31 2 |eA |

fraferfiga & ard fom < forg wyem fegm 2

(A) ! (B) ,

<y (D) 1

“SAereft wreht frevft’ wrreer qarel &1 w3 2

(A) Hcatesh Fad 8T | (B) F&medf BT

(C) o ar= famm & %M %6 | (D) =14 g HEI |
ferem fegmugfahsaR dadi s 2 -

(A) 78 ugfe 1 T swieled amreH 3 R |

(B) 1 ATHHIV 3THNERI o Tt I8 § WA §H & 3w |
(C) a8 ugha arafies fram & & o vy i 18 |

(D) 3w Toft e Wl & |

HTEHATHS 3T7H A AH &

(A) ity oy 3qvmy | (B) 31&R T34 397 |
(C) TR T3 39TTH | (D) oTe T34 39T |
Sie ik faftr frm wmreh zaran & farm o sgem gt 2 ¢

(A) 93 g8 | (B) dTed <&l |
(C) dred & | (D) e <& |
TR ATe % waw H Aoyl wuA R

(A) U8 FicTeht fhaT FIAT @ |

(B) HH THedT Sl ITaTa ToHT &1 ST 8 |

(C) =g Terverersg =t e & wgwn &1 o fere femam smar 2 |
(D) 98 B HenA 4 9 § = fore ferss 3manit 7 |
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75, WigA-JEd 1 350 T B
(A) Terenfefr <6 sean wifda =6 faspfim =50 |
(B) Terenferai g fawa fafavar i Sieft fafirar 3 a9 =@ |
(C) Taenfefi & s <t witan st it %6 |
(D) Taenfii @ wnem & ufd s 3= =6 |
76. T fiver & form wEIMA g1 Y[ IWRYT, 99 GOEAT OIS 9T ardterd feprel & merm |
forgmn ST & 7
(A) UHEHIRH | (By i
(C) = fagsh | (D) feimame |
77. f&=8 Toeror & forameff <6t mfefors sfiwfa =1 sgm aed frmet @ foafafea o @ $= @
afarfera 7@ 8 ¢
(A) “fa eEmn | (B) oTHOT |
(C) ek 31 | (D) shrET-=Em |
78. “HeARhA 1 UfF 6 SAueRar B % aa Sfaded T AT TER H1 oo Hidl 8, 9 6
3Gkl Had SiiTgeh ITATSH Fl | oA & daY H 35 HeH fae g 7

(A) BT | (B) w.it. gfaa |
(C) WHEI | (D) TR |
79. ?qﬂw%wﬁafﬁwﬁﬁaﬁmﬁ srfirafeai aon wriem smare w1 srere fe sm
?
(A) dfig HiauH | (B) 3uafed e 4 |
(C) =faiea wlteor 4 | (D) ¥ A HE A 00
80. ITARIHS fVIeqv 2q Tael avas 8 G
(A) ITERIeHe e g Ffvaa ufskan | (B)  Fgrors e |
(C) fafsre 3uamoegss fareo | (D) 398 @ $Ig &

frataiaa meny = SN’ " Y9 9 81 F 90 9% o I ST

W3 6 3H AT BT THER FHI;: FAT Tl @ | -4 AHET 9 " W gal @ oi-o
3Geh! TS Eetd! Wl & | 38 TR 0 AH-=A, FG -t SR W-aet 1 G = a9 98 g4 hi
B A BT Foidl 8 | B A -1fd <t e < fasra &1 9 s w1 R | di 1w a3
g $O P T ], YA h1 A i 7957 < fore s 7 @ 7 R ; W s 6 foru ws v v
33 | 39 W % g & e ot T fowm 30 | v wgsa % g w1 w0 AT A 3 | wea
A Had 31 781 2 o g:@-gm <hi Taferal agd e 3 SIfeet 8178 & | 36 aWehReh 9 9gd-4
TN & T @6 T 2 | 379 39 91 hi 379 A 981 @dl 56 wIE Setew S gaR W, T,
-, FR-94 BH 9 @, W T8 91 B @bl a1 2 fh His Tohall geatast, S AR HR
S 989l % 9 ¥ 57 9%qati & dfaa T Y | ST ardr 1 aform uh @ 8 | werar Y adae
feufa o v safda 1 gt e @ 9 s ot 72 @1 S vget 181 T o1, WU S b gudt St
A, TF 0 B gEt o B, WA % el R wiafia @ e d ) wee St e ool o e e -ged
#, gaa 3 fda 2ol & d= sd-gen H ufrm s g @ 2  uh gn wm faum g 2 1 5m
Trad afinafd # 3ueht 3 H4t 3 g afe amata 39 a9 19 A8 e T | WIE g
T ST <1 Terereror g 81 T @ | SauH FIE S e % idt e W T e & 3= 3t
afes arrest i wieht ererae 6t wfamr smavas 2 |
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(40) PL-2
fraferfisa sregi o @ wee-wiw § wad S T weE 3w 7
(A) 3TE (B) 3«
(C) AT (D) e
‘ufaa’ wree &1 wgl af-faese gm -
(A) 99+ (B) 9+
(C) "W+ (D) d+¥
‘3l vree ® 3T B -
(A) (By 3
(C)y 34 (D) I
‘STeEwl e & — ERE
(A) dcad (B) eu (Ohat
(C) wwd (D) faresft
‘gfafud’ e d P AT =T B ?
(A) foa (B) %
(C) % (D) ¥
‘Tat’ wree 1 faran-fagmm 2
(A) TIHETE® (B) Tfdqar=s
(C) uiEmErES (D) HIAdTHh
‘H" ez ST 1 BN Tga= I T &
(A) eETEE (B) TETEl
(C) =i (D) ZEfaTe
S RS &1 Al o || ara H A & —
(A) TIHH FA (B) HdhTe
(C) wifass wra (D) ZqEHE P
frafafga 3 @ fra ogg d oft wee gfcan 2 7
(A) T, G, O | (B) W&, 9, & |
(C) oW, 9d, ALH | (D) 3@, ¥, I |

“FHehT AR 1 agd -8 3Tl o et g T |7 o ¥ e 9gd IS 2
(A) Tafvaq afororarees feeror | (B) Hebaarad fereror |
(C) Hffoaa uftamrares fasimr | (D) HEAETHH fasi |
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61.

63.

64.

66.

67.

68.

69.

70.

71.

(41)

SECTION - 111
LANGUAGE - 11
ENGLISH
There are 30 questions in all in this Section.
All questions are compulsory.,

Choose the correct Modal Auxiliaries to fill the blanks for Q. Nos. 61 & 62 :

[ swim across the river when I was young. (ability)
(A) <can (B) may

(C) c¢ould (D)  might

[ thought he be at home. (possibility)

(A) might (B) may

(C) c¢an (D)  will
Prohibition is *gall and wormwood” to distiller.

Here *gall and wormwood’ means :

(A) helpful (B) hateful
(C) hopeful (D)  wonderful
He “stood his ground’ against adversary.

Here *stood his ground’ means :

(A) stand still (B) did not fali

(C) maintained his position (D) maintained his game
Petrarchan Sonnet is also known as :

(A) English Sonnent (B) Italian Sonnet

(C) French Sonnet (D) Shakespearean Sonnet
Plosives consonants are :

(A) |p.bt,d] (B) [t d&s

(C) 'm,n | (D) |f,v.0, 2

Which 1s palatal consonant ?

(A) |h (B) 0]

© 1l (D) [1]

The phonetic symbol for underlined letter in the word “tile” is :

(A) ler] (B) [or]

(Cy | Al (DY |an|

Phonetic transcription for the word “hang’ 1s :

(A) |heing (B) | hay |

(C) | heng| (D) | hamy|

Phonetic transcription for the word “jester” 1s :

(A) | dzesto(r) (B) |jesta(r) |

(C) | dgersta(r) | (D) | jeista(r) |

Which one of these is not related to passive vocabulary ?
(A) words are recognized.

(B) words are understood.

(C) words are often used in speaking and writing.

(D) words are never used in speaking and writing.
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Motivation is a process of :

(A) arousing interest (B) maintaining interest

(C) controlling interest (D) all of these

Communicative approach to English teaching means :

(A) Informal approach (B) Group competence

(C) Communicative competence (D) Communicative appearance

How many components are essential in the process of communication ?

(A) 3 (B)y 2

(C) 4 Dy s

The communicative approach in teaching of English has been practiced and developed in :
(A) India and England (B) Indonesia and Japan

(C) England and America (D) China and Japan

Multilingualism in classroom can be used to : (Choose the irrelevant option)
(A) teach all subjects

(B) teach about diverse cultural groups

(C) teach only languages ERE
(D) teach the lesson of equality between cultures Db

Which one of these is not a part of remedial teaching ?

(A) Teaching afresh what has not been taught earlier.

(B) Teaching afresh what has been taught earlier.

(C) Suspending the part of learning the new items.

(D) Preference to reinforced practice of forgotten parts introduced earlier.

Which one of these is not a challenge of teaching English ?
(A) Determining the goal of language teaching.

(B) Several methods in language teaching.

(C) Large class size.

(D) None

Written Tests and Examinations are not meant to test

(A) Vocabulary (B) Translation
(C) Pronunciation (D) Composition
The concept of evaluation was introduced by :

(A) Dr. West (B) B.S. Bloom
(C) Thompson (D)  Wyatt

Read the following passage and answer the Question Nos. 81-85 :

“Wind energy” is derived through a process where wind is used to generate mechanical
power or electricity. Wind turbines convert the kinetic energy in the wind into mechanical
power, which can be used for specific tasks (such as grinding grain or pumping water). A
generator converts this mechanical power into electricity.

) " may be an appropriate title for the given extract.

(A) Kinetic energy (B) Electricity
(C) Generator (D) Wind energy
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Fill in the blanks with appropriate linking devices which are given below : (for Q. Nos. 82-83)

82. Wind is used to generate ~ mechanical power  electricity. (According to the
passage)
(A) either—or (B) but—also
(C) neither — nor (D) so-—as
83,  Turbines  generators are used to convert energy. (According to the passage)
(A) neither — nor (B) both—and
(C) but-also (D) as—as
84. A generator with turbines  mechanical power into electricity.
Choose appropriate verb to fill the blank :
(A) convert (B) have converted
(C) converts (D) are converting

85. Mechanical energy and electric energy
Choose the correct option to fill the blank :
(A) are (B) is ks
(C) have been (D) was EE

the ditterent forms of energy.

Read the following stanza and answer the questions : (Q. Nos. 86-87)
We have no time to stand and stare 7
No time to stand beneath the boughs.
And starc as long as sheep or cows.
86. Choose the correct thyme scheme in the above stanza :

(A) abecd (B) abba
(C) aabb (D) baba
87. Which literary device is used in the second and third lines of the stanza ?
(A) Alliteration (B) Simile
(C) Metaphor (D) Personification

88. In Saxon strength that abbey frowned.
Which figure of speech is used in the above line ?
(A) Metaphor (B) Simile
(C) Personification (D) Epigram

89. [ must confess that it my quest, | felt depressed and restless.
Which figure of speech is used in the above line ?
(A) Personification (B) Assonance
(C) Metaphor (D) Epithet

90. Thy soul was like a star, and dwelt apart.
Choose the correct option of the figure of speech which is used in the above line :
(A) Personification (B) Metaphor
(C) Pun (D) Simile
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(A) F=EEfa: (B) =gwfa:
(C) FFvafd: (D) Fraeafa:
“6:10" Hher T foraa -
(A) HrHTgaTEAy (B) guiersmygareTy
(C) HURSSATET (D) genfesRuaTeTy
HTRYETERY B - YeITgl vl wafed —
(A) TE9 (B) B39
(C) WYH (D) A2y

“H TeTeh 9 Y T8 e | I ATa SEhAlan $ed —
(A) 78 shifecan awe 3 Jeanfy | (B) 318 shifecan wma: 7 Fgnfy |
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(A) €T (B) 919
(C) |ETyTy (D) @@
79. WM 3 fashean: g | wWienefl vy fowety sy fmifa | advemen: sew: &: 2
(A) Framumersysr: (B) wgfaemeashn:
(C) TTTRICHHIHR: (D) AT YHR:

80. ITHRIAHINEAE 3gevamfta —

Frafafigan smfed mearm snariea we: (81-85) Tt -

ferearry: Forerpe: iy a1feq | o 1w guiey: fawafa | aftarsar: aerEs $af |
H: FEq Fewdil aer: wehted TerEfd | | aRem o wWE TEHEE M S 9
IeTEAT | T TR T JeaanT! 9 add | |1 g weait |

81. “vadaur” $cud HHTH: h: 7

(A) wgsifa: (B) readivrE: -

(C) HHUTE: (D) ET: E%f
82. Pl A UM TAATH TW: —

(A) P +c0 (B) &+

(C) Ha+dn (D) &+ FdT

83, “mEmRM” 3o i faufa: ¢
(A) Tt (B) wHt
(C) aaHt (D) feetan
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73.

74.

76.

77.

(58) PL-2
et g &9 faAT Haw <1 293 faad g9a= get It 3 7
(A) vye faggstsg ggare &6t (B) gIHT SEL
(C) afevdt feaadiza gus= st (D) T fag3i3q g5 BE

famis & Hayfa 9o 87 3 Wit 3 idt Squdo B er et Aas 9 :
(A) wifermyd (B) fefamrfaa
(C) HIYIH (D) yF3d

"o wiftmmyd 784 €1 3, Fem, IIe9s I WaET § dud Re oy g g fayfer g 3 99 =09
w&efas 3 3 fifue 76 | 37 Ga fagg fiffimr oz Sregdsa faor dv 3 -

(A) wifenrr v fira’s (B) I&-deds ¥ fHuis

(C) =93 HT3 (D) wIsE HUZ

I, fimrra, g, em, faHesr, Miag e Y ge mHss R ng Idunofed . dus T
(A) HSEIEB (B) fouzans

(C) vIsdmEs (D) V3JII&T NS

i frfir 129 95 fawz 71 ve 2 Hos=uas Gt R s &t 9
(A) Hfonf 129 s 378 " &t »e3 feans aaat |
(B) 3, 9293 3 mine3" 58 foue € 91 feans 995" |
(C) feferradt fama gt &t =93 ags & fitue | [OF
(D) ¥4 2 s, »iy 3 I% feds fafonmifts sfde as |

I Tofm qu5 fan fifemr arzdter

“wifmmua & feg daft 3g° Avs & ordle 3 fa €9 it fe =93 &t 79 3 =dhr fedft s
T95 It I | we JE) 99T 9% fiy S T 37 fagsr &3 fder J | fen 3g7 /< ¥97 Ha us &9
folsg ofis g & 3, F Ry Aoz = fded 1»

(A) SesHies (B) ifs3g

(C) 78 (D) #.6.39s

IR wiftmimis FH #a9 fefenraeet § I3AH Aee’ ugr8e 95 37 €95 § ufost 3w wEe;
T4, &5, »iy, 90 wrfe § wrag gerge It T | — feT Goaas fan I §39 95 Hag q99t
0

(A) TEINEAE I (B) YIE3IWATS

(C) MIHE 3 faaHs <5 (D) wafefamrfaa 3 3afaa s
gde dtfamiadta .

(A) ¥ (B) =I33 99

(C) FWarsaardt Iae (D) e TH I

https://www.pygonline.com


https://www.pyqonline.com/

PL-

78.

79.

80.

(39)

1{H’5’Eﬂ§"’ﬂ*

(A) widt, AUme w3 858 JTH it T
(B) A, nrmiee o3 Agg 33 oAt I 1
(C) nidft, wmime w3 gs5 I o T
(D) A, miEe w3 A9s It I T

afezT s, wigg iu, FEh T wirfe faadt Jifumr € i as |
(A) 95 Ims It fifemr (B) Hegs du Hfifimr
(C) wae=dt fams &t i (D)  VS-AHardt & famrs ©ff ftfepsr

fags ¥ ugaT-fove adf aee €57 ¢ fezae § Wz =9 faodt wsiae fedt = yoar
BEeTed J ?

(A) =Azfoms [ (B) ywa=d!

(C) feeafeq (D) i faafhs fifipr

=

(81-85) J& f@H Ug 3 ug A AE B 4ud 81 385 I ¥ F3a fel :

W& ¢ fegrat &t vare GR ¢ fazet ugs & gt 3 & it 7 radt 9 faBfa fifg 3¢t fasy

WeY & Ao ot &, €8 Tt fagme windls, S99, aH-8am@ 3 vt f&u afae dss =&t 34 T |
wifadt fagmg Im e 719 nifls gt § | vg fow € 2a9 Woard 996 AW § Y O B8 Usd ©
Ao 3t 3 | wifadt 96T HEY ® Jarg § He wadht I w3 vad E niran 5T § 5597s Jadt I, fam
ST H&Y wiad MHSE AHE 'S @ finigt @7 fead Age Je7 T | Hars a5 9 =g it fag™

fove T8 ¥ J9yd Af3aTa e F9e 7S |
81. ‘@ T fedfimw g
(A) fagft (B) fuaadt -
(C) IJ=C (D) =Mt ST
82, I3 BT of HfenT HEE J :
(A) Wgarg (B) ¥&H
(C) sadfl= (D) wHg=
83, ‘d9d HEC T EI-wdHA HET J

(A) wWagordt (B) W3
(C) &= (D) @u
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84, ‘HSIS HYY I HHETEE de 9 :
(A) IE3=49, vd=d
(C) IFg3=d, HIdH

85. ‘A HUW O 18T 995
(A) EIH
(C) RHTe

(60) PL-2

(B) 3I93=4, A58t

(D) ZFe3<d, a9HS

(B) oW %
(D) T

(86-90) I& fod Tfe-Se g U A AS B 49986 390 Sa v G339 el : -

Har fde ¥y gras sar,
g2 yrarft a7 greftert &t |
M 92 AISd 3THS U=,
Tttt WTER & Jar Wit &1
Tret fEare HE niarfnr & |
A faz I iz S ardtnfi &t |

86. Gz afe-duorgEed:
(A) HI&
(C) fradst

87. Gazafe-deeTrany:
(A) H3IH
(C) 9ge'dH

88. Bazafe-sew afe-gud:
(A) HES
(C) =9

89, ‘AT HET T WIEJ :
(A) 2
(C) =92

(B) farat
(D) §3

(B) w¥g3dH
(D) faeraan

(B) HargHT
(D) wIT

(B) faauat

(D) wa™g

90. IH fSae He »iardhnr &1 33 9 e muw WIS waE J

(A) it ot Sadhu
(C) wigioad

(BY g7 Fhorf Udor
(D) Je
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(61)
WS —I11
oUML - 11

eyl

L ASHLSE 30 WAL 6.
€35 UL vellol 2L 53 [P 65,
‘25 [l @ elul.” sl sHBL disEuAL Azl 55 6 7

(A) 2081 [Rel ad dal. (B) @il (el afd cll.
(C) el (et e’ darl. (D) el (sl A dal.

(Al AL, 51 2106 RS 2 WAL S DAL R GUR H5AHL dM s Bl 29 s W
AArmiadl sl Bagl GudL 2 & 1

(A) 2euldrm Rl (B) 2telldRiM Rugrirll

(C) R Rl (D) iRl RigA-l

& A R0AL A BA USRS 7

(A) @ususl (B) sl

() &l (D) ¥l

O OEL, UCEAHEL S Asdird ASel 5IH SRl e 2 58 6 7

(A) B0 Wbl A (B)  Golrl

(C) Al s (D) Brauladime sy

‘DAL U6 AR 520 USIRALE ¢

(A) A5G (B) &l o
(C) dedH (D) sueL Al o
ALl 585 e weglq el s€ls 0

(A) <Al (B) syl

(C)  Azdlszel (D) Wers?

[l seu-tailban [saaan v s ulaf weezu o s ¢

(A)  dldlsu (B) ou-d

(C) ™ (D) wilea

25201 (et (o gl W Al 58 ousd 1=l 6
(A) 2 ugld wzlés amss Gl .

(B) “arrtuedl [l Yyl Gupion

(C) ozl A us6l-L 2ol

(D) Bl szt [Rizrel At 249 .
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Hidlrd A AAlNS S 55, D 5L USIRAL GUHLES ¢

(A) s e (B) 2ulees ¢

(C) aulees euw (D) slaea-l e

HIGEUML Rzl UAH S 0L ¢

(A) AU (B)  U%AlcUsl

(C)  cuslks Gudler (D) wile el B U
AR HIgEHL SiRielinl AR 5 S S 7

(A) 34l 52, @i, Al (B)  #4RL, A, G, 58
(C) 2w, 52, AU, duid (D) HAL, G, AU, 58

Al 22 -3, AL SIAL UL 2R ES ¢

(A) 2uz5162 (B) 2lasi f+I0)
(C) 53423 (D) SARsEIRSM mF
Mg ARAs AL HOMA e AR saL € 7

(A)  slA UELA 5=AIAL (B)  atel-ugl Llladl HizAL.
(C) Ul i WAL (D) WRleAmL usnal ML

‘slaL 2 el sa 6 -l AR’ MR [ seinl siealRizisl warrdiAl s1S 2is 216t
syl

(A) Ul (B)  sieyHl

(C)  uaPEla wA (D) [ate

Heuls Bsier 2la(Bis el Azl 56 25 ollotdAl A 04 6 9

(A)  dalas uglail (B) al1s 2@l

(C)  Heuls Al (D) 2uld dd uRadA

(ol UsIRAL WAL HAULEL §R 53 W2 BAL MER-AL WBIAL 32UAL 53AMI UL S 9
(A)  wilszelusr (B) UIELUSR

(C) 251Gz Mgz (D) SLUSIR

551 oAl SAZIHL AR 56 D15 52AZMAL AL 2L AL ¢

(A) ul Mssi szl (B) 20yl 3 il

(C)  AYsd Yo sl (D) Age Y™ 512l

AL, A SLUEA HIZ-L HEUis-L $H HIMESHE AlRI1Hi] 541 125l WMid 04 5 7
(A) s (B) 2245l

(C)  UCEELSL0 (D) Ygedl
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79.

80.

(63)
oe)[ir2 otradl D ARl 565 oot AR 20 AU 249 5 ¢
(A)  Scfil, 2R 2 UM (B)  [Frvaistacy, Sl 24 WAL Us1R-,

(C) WAHUUSR, [Auaazd 2 [zl (D) Avadrd, dqzil 244 [srBisi

Al gy GrauRul wes i, 518 215 wWElRs sRELeveLEL
(A) Ms ™ (B) &8y

(C) s (D) =A™

{121 A B L WA $HIS 81 2] 831 Gz cvil :

Yaetsidl Hall HirellAl e sazml Hevadl (L G 9. [0s sddl, “§ ARsM1 weL AR

25l APl 53121, SIRUL S AL 22l Al 5 5 d 2l w8l oAl AMERANM 290wl e’
Hrasld , IR

(544l “Unto The Last™ “asHiall aldlona dcuas-l uzen woill gdl. olldl 244 oidoa el

Y51l 2Ll 245 Qs Bad ar W+l URRW HOLedl €L 5. 04REL, HSGRA 24 GPLad

ol U1 MIRA A5 251l AL HETAAL UL GEYedl £5. 2 AL AL 245 AlsL HE2

UIBUEIUS Aldd 6.

81.

82.

83.

0]
HiAlAL 2 AAUSARHL 514 AVIEIA HSYEL & ¢ e
(A) Al (B) [l
(C) Yzdsid, (D) Rz

“Otiellon A AUcedl Yre HUTl edl.” Al ‘dcuae” el 1l g2l wst
(A) U + 2UAS (B) U + 2UAS
(C) [UeH + A (D) AU + RS

2ANE ALt 53 2lMs 2l wsid ?
(A) 2)a- Blsclz- Hewl (B) “atslll Hsll
(C) el (D) sl
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{21 ARk UELLLLAL PR WASHIS 84 2l 851 BiR el :
ABlHL RAHL THG, AR 1L A WL

g3l AL e 2[4z Bur WAL A HAL

L @l ML 2L AL ERAL,

eS| 24 WZLAL el 2410 Mo A 1ol

YRRAIA bz 2 aqt &l

B SUAL UL, AL HIEL AorR WO A WAL,

A{R] Al ATHUL, R2cAL, AELAL 6ldl

gl sled sl sz HOL A |,

QUL UL 55 DL USRI 538 AL

GLEL UM 518 SHUSR HOL A 1L [Cfw0)
-l ynall wef ozl @6 2Alsa, Ol
Bz 241 YL sl GUER HOL - HOL

5[ 2l 1 el Al A 52 65 2

(A) Hlsl Aoz (B) odl-l w2l

(C) Yiu-l skl (D) sl UL

Wl slectA A2 2lvs 52 2l st ¢

(A)  dd-l 3 (B) LA ML

(C) 3Md PR (D) Al As3L

el ollell, A vz MU S 917 Al SULUSRAL UAAMA E ¢

(A) &5 Ud-AH (B) A& U™

(C) YBUARS AdAH (D) 2445 ¥dAH
AR s M1 [R151E] 5 £, ALl Sl ACSR 6 Y

(A) 345 BiGEisR (B) Gzl mesR

(C) BunLvdsi (D) uldzs viesk

‘g U AU B SUL & AR ES 7

(A) HELSLU (B) el

(C) (ol (D) lzuil

“SHAUL UL ALEL s 53 us1E-AL Baufdua- s ¢

(A)  Aluas Bl (B) 2amncs Bl
(C)  dqaus B (D) wHaAs Balaziva
" U5 SigL AL 77 AL SUL USRS 6 7

(A)  [E=taazs (B) [dsevas

(C)  dEeuHS (D)  ERIdLIUS
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SECTION-1V /@S -1V

In this Section, there are 2 sub-sections i.e. IV(a) Mathematics and Science and

IV(b) Social Studies. Both the sub-sections consist of 60 Multiple Choice Questions each.

The candidate has to choose either 1V(a) Mathematics and Science OR IV(b) Social
Studies as selected in the Online Application Form and answer all the 60 questions.

T @Ug U g Ingvs HAfa [V(a) miftra aon famma wa 1V(b) amifoes 31 & | SHi 3Ta@vsl &
Tedeh | 60 gfeshedia T 2 |

qlieeff 1 [V (a) TR aen famm sraan 1V(b) amfes e, S gg= e smee-ua o
fepan 2, 1 & ot web v@vs 1 AT @ v Wt 60 T BT ST AT R |

SECTION-IV(a) / @US — [V(a)
MATHEMATICS AND SCIENCE / Tford aen fagm

There are 60 questions in all in this section. The candidates who have selected this subject

must answer all the questions.

THEE U %A 60 59 2 | T anarfefai 3 5w faw 1 == fomen 2 32 @it wvA e arfem 2

91, The factor of {x*— (x—y)*} is:

(A) y(2x— y) (2% — 2xy + y?) (B)  y(2x +y) (2¢% + 2vy + y?)

(C) x(2x—y) (2x% - 2xy —y?) (D) x(2x+y) (222 + 2xy + ¥2)

bt — (- y)") B ETS R g o
(A) y(2x—y) (2% —2xy + y?) (B) y(2x+y) (2¥% + 2y +y?) '
(C) x(2x-y) (2= 2xy—y) (D) x(2x+y) (27 + 2xy +y7)

92, The sum of two numbers is 22 and the sum of their squares is 404, then the product of
those numbers is :

(A) 44 (B) &0
(C) 36 (D) 40
G I3 I AT 22 7 HR 37k T 1 T 404 B, A1 37 T3 B PHBA 8 :
(A) 44 (B) 80
(C) 36 (D) 40
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The sum of the digits of the minimum number by which 1800 is multiplied to get a perfect
cube number is :

(A) 2 (B) 6
€) 5 (D) 4
a8 =JHad gEA e 1800 %1 TP S 9T U gU O W 9T 81, % ek 1 I 2
(A) 2 (B) ©
() ] (D) 4

41 . ] . . .
[f a sum of money becomes 20 of itself in 3 Yearata particular rate of simple interest, then

the annual rate of interest is :

(A) 5% (B) 7.5% 2

(€) 10% (D) 2%
ﬁmmmﬁ@ﬁﬁmaméaﬁmm%sﬁm%,?ﬁmﬁaﬁma%:
(A) 5% (B) 7.5%

(C) 10% (DY 2%

In how many year(s) will ¥ 2,000 become ¥ 2,420 at 10% per annum compound interest 7

(A) 2 years (B) 1 year

(C) 3 years (D) 2% years

10% aTf¥es =epafg =T W ¥ 2,000 foa 3 & % 2,420 81 5dm 2
(A) 29 (B) 194

(C) 3ad (D) 2%ay

If the selling price of 7 articles is equal to the cost price of 6 articles, then what is the
percentage loss ?

9 2
(A) ?E% (B) 145%
1
(C) 13§% (D) None of these

afe 7 a1 fosra 9, 6 Fq3T % 2 qea o S, a1 fha wiaer gty gt 0

(A) T5% B) 142%
(C) 13%% (D) & @ wig 48
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97. A bag contains ¥ 20, ¥ 10, ¥ 5 notes in the ratio 3 : 4 : 5. If the bag contains ¥ 1,000 in
total, then the number of ¥ 5 notes is :
(A) 32 (B 25
(C) 24 (D) 40
T A UT 20,2 10,3553 4: 5% FPE A8 | Al de1 H a7 49 T 1,000 81, A1 T 5
% A1 I TS
(A) 32 (B) 25
(C) 24 (D) 40

98, If the sum of the numerator and denominator of a fraction is 55 and the value of the

.. .3 ..
fraction is g then the fraction is :

20 10
(A) 35 B) T3 o
5 /
(C) 30 (D) None of these

af Felt fort % a7 ait &€ 7 A ss%wﬁ:mmgafﬁﬁma

20 10
(A) 35 B 73
: 5 .
© 35 (D) FH & HiE T
99. If a transversal intersects two parallel lines, then each pair of corresponding angles is :
(A) Half {B) Double
(C) Equal (D) None of these
afe ook oo T <1 T TEnait i wfiese i, @ | BT T Fedsh I BT B
(A) ™ (B) I
(C) W (D) ¥ =iE

100. The longest side in a night-angled triangle is called :

(A) Hypotenuse (B) Perpendicular
(C) Base (D) All of these
T gt i G et o e 2 -

(A) i (B) =

(C) FEr (D) =&t
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[f in the given figure PS||QR, then the value of ZQPS is :

(A) 36° (B) 90°
(C) 54° (D) 100°
gfe fed 7 fom 0 PS|QR B, A1 ZQPS HIAH R :

, ERE
0 . R Ops3s
(A) 36° (B) 90°
(C) 54° (D) 100°
The sum of all the interior angles of a pentagon is :
(A) 360° (B) 500°
(C) 450° (D) 540°
oSt 35 Tt ;I AR
(A) 360° (B) 500°
(C) 450° (D) 540°
The radius of a circle is 6 cm and P is any point which 1s 10 cm away from the centre. The
length of the tangent drawn from P to the circle will be
(A) 6¢cm (By 12¢m
(C) 8&cm (D) 10cm

w g i e 6 Wl @ qwn Pl farg 2 S S & 10l gL R | P @ g R TS ewitan
& err=rE g

(A) 6Tt (B) 12 =t

(C) gu (D) 10 &t
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104, In a right-angled triangle, if its sides are 15 cm and 8 em perpendicular to cach other, then
its perimeter will be
(A) 40c¢m (B 38%cm
(C) 46 cm (D) 50cm
ws g s A, afe gaeht el 15 @diter afit 8 Adhitet vk gut % waad &, @ g
AT I
(A) 408 (B) 3%t

(C) 46zt (D) 50 T

105. The arithmetic mean of 1, 2, 3, 4, .... n numbers will be :

n n+1l
(A) 5+1 (B) )
n n-1
) 3 (D) EEE
> 2 E‘%
[,2.3.4, ... n A3 &1 GH-3 9157 g
n n-+1
(A) 5"*'1 (B) Sl

|=
=
|
—_

(C)

106. The difference between the upper limit and the lower limit of a class is called :

(A) Frequency (B) Mode

(C) Class size (D) None of these
foreft ant ot ot <l qen f= < 61 o FEema 2

(A) AT (B) EEEED

(C) wAm (D) ¥H | % T

107. The co-ordinates of the origin are :

(A) (11 (B) (-1.0)
(C) (-1.-1) (D) (0.0)
(A) (1.1) (B) (-1,0)
(€) (-1.-1) (D) (0.0)
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108. If a dice is thrown once, then the probability of getting a number greater than 6 is ;

1

(A) 0 (B) %

) 2

© 1 D) %

Tfe Ush 91T Uk 91 3STAT A1 8, A1 6 § 981 961 7 i i & ;
1

(A) 0 B) %

) 2

© 1 D) Z

109. Which of the following statements i1s not related to the nature of Mathematics ?
(A) Mathematics is study of numbers, places, measurements, etc.
(B) Mathematics has its own language terms, concepts, formulas, etc.
(C) The knowledge of Mathematics is not logical.
(D) The knowledge of Mathematics is the same in the whole world.

fom 3 =hle = e fra 6 sl 3 wefa adi 2 ¢
(A) TIfoTa & 3T, T, AT 3fe 1 3remaa R e g | Grc:
(B) ifvrd <t 3roft Wit ve, s, 9 anfe g @ |

(C)  ifora =1 3 arfehen el g 2 |

(D) IO T T THE 7Td § G0 9 61 2[1 2 |

110. “Mathematics is the language in which God has written the Universe.” This statement is

told by

(A) Galileo (B) Locke

(C) Bertrand Russell (D) Lindsay

“riforer o v & forst wever 3 wopl sa @ e w5 faw fem 2 17 9 s foeea e ¢
(A) Treftferan (B) @l

(C) ®oUs A (D) forem

111. According to Napoleon — “The progress and the improvement of Mathematics are linked
to prosperity of the state.”
This statement corresponds to which value of Mathematics ?
(A) Disciplinary value (B) Social value
(C) Aecsthetic value (D) International value

AfeR < STFER — “TIOTT <l I=fa TUT g < Hl FEE=a1 W e[ 2 |7 T8 FH I 5
frm ou g wefia & 2

(A) STITEATCHSE oo (B) @I god

(C) Hiaicas qed (D) =g g
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112. The author ot the book “GANITA SAR SANGRAH is :

(A) Arvyabhatta (B) Shri Dharacharya
(C) Pythagoras (D) Mahaveeracharya
“TifTe TR T0E’ AT e % OEh @ :

(A) 3mRivg (B) st e

(C) HTEUNTIE (D) =Rt

113. In which method by moving from ‘Particular to General’, we generate formulas in
Mathematics ?

(A) Deductive Method (B) Lecture Method

(C) Inductive Method (D) Project Method

ey fafia i “Farfire & arr <) ot S g ww e B g w7
(A) T fafs (B) =IrEaH fafy

(C) = fafy (D) s fafy

114, The knowledge of which of the following is most helpful in painting ?

(A) Geometry (B) Statistics
(C) Arithmetic (D) Function
it & et e Ferehen  weffors e 2 7 A
(A) Y@ (B) wifeah '
(C) TRTivTa (D) HeH

115, Which of the following is not an evaluation method ?
(A) Interview (B) Preparation
(C) Questionnaire (D) Check-list
frmfafiea 4 @ = @t v goare wfafaadi 2 ¢
(A) HIEATERR (B) damd
(C) WA (D) Im-fore

116. The evaluation process is related to :
(A) Educational objectives (B) Evaluation method
(C) Learning experience (D) All of these
TeATeh UTshaT Fafed gt 8
(A) Toregor 3ew=i © (B) TR gfafa 3
(C) iferm agua 4 (D) HaHH
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The purpose of diagnostic testing is :

(A) To guide learning methods.

(B) Classification of students according to difficulty level.

(C) Detecting lack of achievement in particular subject.

(D) All of these.

fremTens wiem %1 3273 2

(A) eI Uglaai =1 feem- e & |

(B) hiaATS T & TR T BT bl diTH{o1 AT |

(C) forwa fersre i Seife <Y et <1 gat ST | EE!
(D) Tt "

Which method follows the principle of a process of combining different statements or
parts to get something new ?

(A) Lecture method (B} Heuristic method

(C) Analytic method (D) Synthetic method

formr faft o g2 791 e +@  fort fafv= wuat an weti & gaiem 6 ufwan + fagra i
qTeHT Bl 8 7

(A) =are fafy (B) ggftfees fafy

(C) Targetam fafy (D) Gy fafy

If(\ﬁ)s x 97 = 3% x 34/3, then the value of x is :

(A) 4 (B) 5
(C) 6 (D) 7
afe (\3) 92 =3 x WA, A mAAR :
(A) 4 (B)
(Cy 6 (D)

l - ] .
If [r —?j = &, then the value of(.r" + F} s :

(A) 64 (B) 68
(C) 66 (D) 4354
a2 (v L) =g @ &) mm

(A) o4 (B) 68
(C) 66 (D) 4354
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121. The value of x in the given diagram is :

Normal
Incident Reflected
ray ray
30°f
Plane Mirror
(A) 15° (B) 30°
(C) 90° (D) 60°
sfirer=
[Eau fam
30°)
HAe U]
(A) 15° (By 30°
(Cy 90° (D) 60°
122, The frequency of a sound source is 50 Hz. In 2 s number of vibrations will be :
(A) 25 (B) 50
(C) 100 (D) 20'1? )
forelt el wim 1 mafd S0 Hz 8 | 38k 2 s W i 1 e 2t
(A) 25 (B) 50
(C)y 100 (D) 200 EXE
123. LED emits Light : s
(A) Only green colour (B) Only red colour
(C)  Only yellow colour (D) All of these
LED bl 3cafsia sl &
(A) el g (B) *heret ol 1
(C) <had dien T (D) |
124, Which of the following is not a member of the solar system ?
(A) An asteroid (B) Meteors
)y A satqllitc (D) A comet
frafafiga # 9 o 9 e+ qe= @i g 2
(A) ¥aue (B) Jewhrd
(C) 3WE (D) ¥y
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125. Laboratory method is based on which principle ?
(A) Learning by seeing (B) Learning by doing
(C) Learning by rote (D) All of these
yamrenen fafy fora fagra w smnf@ 2 7
(A) <@ HIE (B) =i HiE
(C) TR "I (D) I
126. Synthetic fibre among the following is :
(A) Nylon (B) Cotton
(C) Wool (D) Silk
Ffafga @ o aecfva wn &
(A) ATEEH (B) <hurd —
(C) 3 (D) @™ O
127. The symbol of potassium element is :
(A) P (B) Po
(€) Pt (D) K
Ty o 1 Wi @ :
(A) P (B) Po
(C) Pt (D) K
128. Chemical formula of aluminium nitrate is :
(A) A/INO, (B) Al(NO,),
(C)  AlL(NO,), (D) AL(NO,),
vefurfem 1gge =1 Tt g3 @
(A) A/INO, (B) AI(NO,),
(C) AL(NO,), (D) AL(NO,),
129. Which of the following mixture can be separated by the winnowing method ?

130.

(A) Mixture of grain and husk

(B) Mixture of grain and pebbles
(C) Mixture of wet sand and pebbles
(D)  Mixture of sand and water

frefefiga 4 @ = a1 fazor frsarem faf gro gess fear snashan g ¢
(A) 3T=TehUT AT H 1 oo (B) 3FTehVT T Fehg 1 fIsmn
(C) et fugdh aen sheng =1 fusmr (D) fugh = urt =1 fysm

Synthetic indicator among the following is :

(A) Litmus (B) Turmeric

(C) Chinq rose petals (D) Phenolphthalein
frefefiga o 1 woetiva ga 2 -

(A) oz (B) &

(C) T8 6 vgfeat (D) e
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131. The pair of green-house gases is :

(A) 0, CO, (B) €O, N,0
(C) N, CH, (D) 0,.H,0
gfta-1 el 1w 2
(A) 0,.CO, (B) CO,.N,0
(C) N, CH, (D) 0,,H,0
132. Audio-visual teaching aid among the following is :
(A) Radio (B) Chart
(C) Tclcvision (D) Blackboard
frrafafiga 4 9 ger-gwa frgm amvm 2
(A) e (B) e ]
(C) gEeEh (D) TamTTeE A
133. Which bacteria is found in roots of leguminous plants as symbionts ?
(A) Rhizobium (B) Bacillus
(C) E.coli (D) Achromobacter
crfiata dei 6t sigi # HiA @ e agsfid % w9 e S g
(A) Tgifeay (B) dftem
(C) E.hieTs (D) Ushmde
134. Which edible part is modification of stem ?
(A) Turnip (B)Y Carrot
(C) Sweet Potato (D) Potato
= @ i T 9isg aered @ o s B 7
(A) YeTsH (B) TS
(C) Whih= (D) 3]
135. Which of the following is a simple tissue ?
(A) Xylem (B) Phloem
(C) lScIcrcnchyma (D) None of these
FATd T wa Fas 8 :
(A) e (B) wATH
(C) TeholshrgHl (D) 3 ¥ HIE T
136, Which of the following is not an air pollutant ?
{A) Carbon mono-oxide (B) Nitrogen oxide
(C) .Mclhanc (D) Oxygen
fradasRag s A& 2 7
(A) <rE HiHI-3ATFETSS (B) HTgZIoH HATeaTss
(C) U= (D) ATeSH
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137. Sacred groves are found in
(A) Khasi and Jaintia hills of Meghalaya
(B} Aravalli hills of Rajasthan
(C) Western ghats of Maharashtra
(D) All of these
ufgs 3uae uTe 9 8
(A) Herer =) @t 9 st werfe 4
(B) s & el uad 2fge i
(C) wEnTg % ufvefi are o
(D) s g

138. Which bacterium causes pleurisy disease in human ?
(A) Mycobacterium tuberculosis
(B) Corynebacterium diphtheriae
(C) Mycobacterium leprae
(D) Neisseria gonorrhoeae
HH & Sfiam] & uHe § wiE AT a7
(A) TTSHISTFATET TR aE
(B) RIseEm feuerirs
(C) WighidFiTEs vl

(D) i T

139. Which type of sebaceous glands present in human skin ?
(A) Apocrine (B) Merocrine
(C) Holocrine (D) Eccrine

e o= Y defta aftai o 9 R H A E 7
(A) THIHIE (B) HitisEA
(C) BrABHIEA (D) A

140. Disecase caused by deficiency of Vitamin A is :

(A) Night-blindness (B} Berni-Beri
(C) Scurvy (D) Ruickets
feifimu (A)Fr A G EF aen U 2 :
(A) T (B) ii-=f
(C) T=hal (D) TreheH

141. In which phasc of cell cycle, synthesis of histone protein occurs ?
(A) G,-Phase (B) S-Phase
(C)  G,-Phase (D) M-Phase
i1 =5k <l B & yraeen § G W8 &1 ageien gar & 7
(A) G,-SraEn (B) S-Srae
(C)  G,-aree (D)  M-SrEEd
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142, When was the Family Planning (Family Welfare) Programme started in India ?

(A) 1947 (B) 1951
(C) 1958 (D) 1960
YA # UHER FHESH (THETR SHeamn) HrRiRH Sl AR w6 g3 o 7
(A) 1947 (B) 1951
(C) 1958 (D) 1960
143. Which of the following hormone supports pregnancy ?
(A) Insulin (B) Adrenaline
(C) Melatonin (D) Progesterone

frmfefiga 3§ 9 = 91 gW S9ad 4 98E6 & 7

(A) sHfed (B) ufgaet
(C) WA (D) SR

144, Which of the following is not an example of Kharif crop ?
(A) Cotton (B) Soyabean
(C) Maize (D) Pea EEE
Frafafea 1 8 =R m @ls $H wod F1 I A 8 7 EH;
(A) HIH (B) G
(C) HFHT (D) |H

145. Which of the following is not a scientific teaching method ?
(A) Anecdote method (B) Evaluation method
(C) Psychpphysical method (D)  Questionnaire method
Frafafiga @ o =5 ot v Senfe foem fafé i g ¢
(A) wer fafa (B) Heaieh faf
(C) wATeTEw fafy (D) gvATae fafy

146. The main objective (aim) of evaluation 1s :
(A) Removal of students errors.
(B) Measurement of students achievement.
(C) Give promotion of students.
(D) Diagnosis and treatment of learning deficits.

TR &l & 32 2 -

(A) Fenféfrt i gfeat fmremn |

(B) Toremfefari <t Syafsls =61 o |

(C) Torenfeiai =t gi=fa e e |

(D) g 6t w4t 1 fgm d ITEr FE

147. Which teaching aid is not included in the audio-visual equipment ?

(A) Movie (B) Television

(C) Laptop (D) Epidiascope
@ fore-wgrre ammi, yer-gva 3w 3§ aftifad a8 8 ¢
(A) et (B) efifers

(C) <uei (D) Fem-fomamen
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148. Correct decreasing order of friction forces is :

(A) rolling, static, sliding (B) rolling, sliding, static
(C) static, rolling, sliding (D) static, sliding, rolling
=] Sl <l WEl Hedl 3 1

(A)  @refien, @ifew, adi (B) @iefes, arl, P
(C) wifas, arels, ad (D) e, adi, <t

149. An object is moving on a circle of radius R. When it completes half circle, then the
distance and displacement travelled by it will be :

(A) =mR,R (B) 2= R,R

(C) =R,2R (D) 2zR,2R

us g R e & ga wonfawe 2 | 99 98 Aggd g ! 2, d1 35 g 9 <6l TS gl @
fereem rm

(A) nR,R (B) 2z R,R
ERE

(C) =nR,2R (D) 2aR,2R =¥

150. A wooden spoon is dipped in a cup of ice-cream. Its other end
(A) becomes cold by the process of radiation.
(B) becomes cold by the process of convection.
(C) becomes cold by the process of conduction.
(D) does not become cold.
AhE! | Ueh T I HATFEGHIT b ATl T GHIAT A1 2 | FHRT g8
(A) Taferor <6t wfsman = smur g1 8 s |
(B) a1 uferan & s 321 8 s |
(C) =Te = ST3RAT o 10T 31 &1 ST |
(D) @1 7l g |
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SECTION-IV(b) / @S — [V(b)
SOCIAL STUDIES / SIS 31e98

There are 60 questions in all in this section. The candidates who have selected this subject
must answer all the questions.

T @vs 1 F 60 WA § | Fom srafiii 3 g fawr @1 wa= foren @ 3% woft wom e aifari 2

91. Which Buddhist text contains a dialogue between, a king named Avantiputra and a
disciple of the Buddha named Kachchana ?

(A) Deegh Nikaya (B) Khuddak Nikaya

(C) Majjhima Nikaya (D) Anguttar Nikaya

T Tl Faf<a 3 gg % SRl Fed S A dae sH A dig iy iR 7
(A) &4 frm (B) @ Frepra

(C) wfsem frewm (D) W

92. Which Buddhist text contained a set of rules and regulations for those who joined the
sangha or monastic order ?

(A) Vinaya Pitaka (B) Sutta Pitaka
(C)  Abhidhamma Pitaka (D) Jataka EEE
1 & g 7o 3 g T a1 WG T A et % fera et s an ¢ =
(A) o fies (B) Hd fue
(C) fam fres (D) s
93.  Which is included in the six school (Shaddarshan) of Indian Philosophy ?
(A) Satyaarth Prakash (B) Vaishesika
(C) Mahabharata (D) Upanishad
Tl 23 hi : wgfd (vgesi) # i e & ¢
(A) Geard S (B) dufys
(C) WEMrE (D) 3fwg

94, Who came to India during the Mauryan period as the ambassador of the Greek ruler of
West Asia named Seleucus Nicator ?

(A) Fahien (B} Xuan Zang

(C) Itsing (D) Magasthenes

ufyeH TR o A1 IHE Hegshd [Hehet o TSiga o &9 4 AR § URd HiA AT 7
(A) HrEH (B) ¥aH @

(C)  gfeam (D) Hmefta
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97.
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State the complete true statements about Arikamedu.

(I)  Itis located in Puducherry.

(Iy Arnkamedu was a Coastal settlement.

(ITT) Other finds include pottery such as amphorae.

(IV) Items related to the Greek Empire have been found here.
(V) The kings here were Chera Dynasty at that time.

(A)  LILIII (B) IILIV,V
(C) IV, V.1 (D) V,IV,I
fpmg & fowy o qof wex wu TaT8T |

() =g ggorlt 4 feya ar |

(1) rftepmig AEwaqol oo o |

(I11) T8l UhRT 5% 7= e 2 |

(IV) Fg1 W g amr=a 3§ gefia g fied 2 |
(V) Tl ST =K a9 |

(A) LIL I (B) IILIV.V
(Cy IV, VI (D) V,IV,I
The Chinese Pilgrim ‘Xuan Zang’ lived in the court of which King 7

- . EiEE
(A) Chandragupta (B) Samudragupta o
(C) Harsha (D) Kanishka =
=t it ‘s mm” fFa T s e AR Y ¢
(A) == (B) HHATA
(©) = (D) HF=h
[n which play we find an mteresting description of the plight of a poor fisherman in Gupta
period ?
(A) Harshcharit (B) Abhigyan Shakuntalam
(C) Mudrarakshasa (D) Mrichhakatikam
%IF 8 A1 H TH Bt § U T TGN b 91 U1 & geiagi 1 a1d Fdl g5 8 7
(A) wiafe (B) e Apeerd

(C) HzraH (D) HeSehichd

Where is the temple of “*Bhitargaon™ situated ?

(A) Uttar Pradesh (B) Bihar
(C) Orissa (D) Bengal
“fiaunia” s aft weTw fua g 7

(A) I T (B) faEr
(C) 3Em (D) &

By what name are the teachings of Shankardeva who was the main propagator of
Vaishnavism, addressed in the late fifteenth century ?

(A) Vallabh Dharma (B) Krishna Dharma
(C) Guru Sandesh (D) Bhagavati Dharma

TEdl Faeg] & IS H Vehied, S J9d H 6 J& YA 9, % IUCUl i [hH AW °
geifer foran man 8 2

(A) Ty ol (B) T ad

(C) T&H (D) sFTaet o
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101.

102,

103.

104,

105.

(81)
What was Khud-kashta and Pahi-kashta in Mughal period ?
(A) Types of Revenue (B) Types of Crops
(C) Types of Administration (D) Types of Farmers
TerehIcl § Geshivd o Migehed #&1 & 7
(A) TFE % ThR (B) SHeAl h ThR
(C) TIEA & T (D) Topumi & TR

What was the relation of “Manzil-abadi”, **Sipah-abadi™ and “Mulk-abadi™ during the
Mughal period ?

(A) Part of Book (B) Portion of the Population

(C) Part of Revenue (D) Part of Administration

PiAhId § “Hf el - A", “Fug-mardl” a “gesh-ATadl” 1 49y fhad o1 7

(A) &b % 9T (B) ST % WA

(C) T =5 WM (D) JEITHA % wm

Who got the book published under the name “Stripurushtulna™ ?

(A) Tarabai Shinde (B} Pandita Ramabai

(C) Jyotirao Phule (D)  Rashsundari Devi

“EirgEyder1 91 9 fehare fead yemfdra «eard ¢ _—
(A) dTeTs 97 (B) e wrars e
(C) SR Bl (D) T <t

When was the parallel government (Prati Sarkar) established in Satara, Maharashtra ?
(A) 1941 (B) 1943

(C) 1945 (D) 1947

WEATSE o AT § T Geehr (afd atnr) 6 v w9 himg 2

(A) 1941 (B) 1943

(C) 1945 (D) 1947

Which word is not given in Preamble of the Constitution of India ?

(A) Belief (B) Faith

(C) Worship (D) Language

W o Gfaqam i 32l 3 i a1 wsg 78 fearman 2 2

(A) Torzama (B) i

(C)y 3FAEAT (D) ™

When was Street Vendors (Protection of Livelihood and Regulation of Street Vending)
Act came in force in India ?

(A) 2010 (B) 2011
(C) 2013 (D) 2014
WTed | 7Y ferskan (Sfferem wam i vy fosra fafamm) srfufem e @ gan ¢
(A) 2010 (B) 2011
(C) 2013 (D) 2014
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“The Idea of Residual Powers™ provision in India is adopted from which Country’s constitution ?
(A) British Constitution (B) United States Constitution
(C) French Constitution (D) Canadian Constitution

“ rafire wifeai =1 fagm’ @1 ey w1 e 2w & afaam o formmn g 7
(A) Tafes afeam (B) it & afaum
(C) i = afaum (D) TSN % BfauH
In India after the death of President Fakhruddin Ali Ahmed who acted as President of India ?
(A) B.D.Jatti (B) V.V.Gin
(C) Zail Singh (D) N.S. Reddy .
| 1 gl FEEEH el HA8HG i G & A1G HrIargsh Uegiid & €1 4 foheq Rl o ?
(A) ®.2h. S (B) &1 firfh
(C) i« fiig (D) TH.UH. &

Which two states have same number of Lok Sabha Constituencies ?
(A) Uttarakhand, Jharkhand (B) Kerala, Karnataka
(C) Andhra Pradesh, Rajasthan (D) Punjab, Odisha
o1 1 Tl 1 A et - & i wen JuE 8 ¢

(A) ITEE, ANES (B) A, FAEH
(C)  3TTY 99, TSI (D) w,aﬁ%&n
Toll free Helpline Number for Children who are in need of care and protection is —
(A) 1095 (B) 1096
(C) 1097 (D) 1098 E :
a1 1 gfaan vd weg  fore .97 gevems g - "
(A) 1095 (B) 1096
(C) 1097 (D) 1098

In India which Constitutional Amendment determined the size of the Council of
Ministers ?

(A) &1 (B) 91

(Cy 101 (D) 102

wrd # T wfaum dwivm grn afafoe o smer fuffa fem mn 2
(A) 81 (B)y 91

(C) 101 (D) 102

[In 1989 which Committee recommended Constitutional recognition for the local
government bodies ?

(A) P.K. Thungan Committee (B} B.R. M¢hta Committee

(C) Ashok Mehta Committce (D) Sadik Al Committee

1989 # ferm wfufa 7 v smaa & feml < @3 2wt vem =@ 6 fawife $i 2
(A) 3%, g afafy (B) .31, Trgan whrfa

(C) 79I Hgar iufd (D) uifess et wfufa

*Abolition of titles” is a part of which Fundamental Right ?

(A) Right to Equality (B) Right to Freedom

(C) Right Against Exploitation (D) Cultural and Educational Rights
‘gurferi w1 3ta’ fora Hiferen st o feamn 2 ¢

(A) HHAT I JATUHR (B) AT T HATUHR

(C) o % foeg srfrsn (D) Thids iR A rfemr
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118.

(83)

Identify the correct group of Scheduled languages in the Eighth Schedule of the
Constitution of India.

(A) Bengali, English, Sanskrit (B) English, Hindi, Sanskrit
(C) Santhali, Hindi, Sanskrit (D) Guyjarati, Marathi, English
YA % dfaue i srsd FgE § srEfea |rst & @8 Tg S ugha |
(A) e, ST, Geepd (B) 3, f&d), weapa

(C) wereft, f&dh, aeha (D) TS, T, iU

The circle that divides the day from night on the globe is called —

(A) Circle of illumination (B) Equatorial circle

(C) Elliptical Orbit (D) Summer Solstice

Tra T a8 g4 S fe vd v i fanfia e 2, waerd 2 -
(A) wdfed ga (B) smead™ 9a

(C) Eefgarpray (D) IR AT

Katabatic winds blows from —

(A) From Valley to Mountain (B) From Mountain to Valley
(C) From Sea to Land (D)  From Land to Sea

3aiE ga- yafed gt 8 -

(A) HTE H Tda &l TWE (B) 9ed § =1dl h TWE mEE
(C) TYE % T hl @l® (D) el ¥ ag 6l O (=523
Approximate Extension of the shadow zone of S-wave is —

(A) 105°to 145° (B) 105°to 105°

(C) 145°to 145° (D) 90°to 90°

S~TT % BTAT &7 Bl ferar o 8 —

(A) 105°% 145° (B) 105°%F 105°

(C) 145°F 145° (D) 90°F 90°

On which beach is Kayal located ?

(A) Malabar Coast (B) Konkan Coast

(C) Kathiawar Coast (D) Coromandel Coast

Fared fra ae m i 8 7

(A) WTETER T2 (B) iU e

(C) IS @ (D) HIHSA a2

Batholiths, Lacoliths, Lapolith and Phacolith arc related to

(A) Earthquake (B) Volcano

(C) River (D) Gravitational force
duifay, eepifery, duifery a Seifay awafug &€ -

(A) YHW T (B) SaTcTEt @

(C) @ (D) TEcaTHY o T
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Which statements about the “Faience” are true 7

()  Faience mines have been found in Mehrgarh.

(II)  Faience were found naturally.

(TII) A gum was used to shape sand or powdered quartz into an object.
(IV) The objects were then glazed, resulting in a shiny, glassy surface.
(V) Faience was used to make beads, bangles, earring and tiny vessels.
(A) L II I (B) ILIILIV

(C) LIV, V (D) IV, V.1

T ST EH A R aa E ¢

() ¥ 6l @eH tewrg | fireft € |

(1) W= STehfdeh oIt 9 UTe ST & |

(I11) ST AT THeeh Teer &6 ol i 7iig § et 378 aqd s-m8 et off |
(IV) 35k 918 3 g3 T U el 0 I@Tg i o |

(V) Wd=d & ok, i, Faeh 3R Bi F04 30 I1d ¥ |

(A) LILII (B) ILIIL IV

(C) TV, V (D) 1V, V,1 EEE

Which statements are true about Rigvedic period ?

(I)  Soma was a plant.

(I  Brahma, Vishnu and Mahesh were the main deities.
(IIT1) Called Sukta or *Well Said”.

(IV) Upanishad and Aryanak texts were composed.

(V) Indra was not the god of warrior.

(A) 1,11 (B) IL1V
(C) V.V D) LV
FaAcH FA S TP A FH T 8 7

(I) S Ueh e o |

(I e, ferey] = #aw e <o & |

(L) & %1 Haerd, <t aig | Srerl 7/ o1 |

(IV) 39N AT Y T T 9 |

(V) ¥ 32 1 95 <adl Fel o |

(A) L1 (B) 1L 1V
(C) IV,V (D) LV
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121. Match the following forests and trees :

Forest Tree
(1) Tropical Evergreen (a) Spruce
(2) Tropical Deciduous (b Palm
(3) Montane (c) Mahogany
(4) Mangrove (dy Sal

m @ @ @
(A) (d) (¢) (a) (b)
B) © @ O (@
(C) (¢) (d f(a) (b)
D) @ ) © (@
frferfiga ==t wa gaii 1 gafera $Hifo -
9+ EL
(1) 3IUHLETHIAgEER (a) B
(2) Ioressd it (b)) A

(3) TedE (c) WarH!
(4) Hu (d) =
Mm @ 3 @)
(A) (d) (¢) (a) (b) ® |§
(By (¢) (d) (b) (a) [OFg:8

C) (©) (d (@ (b)
(D) (@ (b)) () (@

122, Which of the following is a group of Iron ore belts in India ?
(A) Singbhum (Jharkhand), Bailadila (Chhattisgarh), Nellore (Andhra Pradesh)
(B) Kudremukh (Kamataka), Mayurbhanj (Odisha), Bokaro (Jharkhand)
(C) Bokaro (Jharkhand), Bailadila (Chhattisgarh), Mayurbhanj (Odisha)
(D) Mayurbhanj (Odisha), Singbhum (Jharkhand), Bailadila (Chhattisgarh)
faraferfiga i @ s a1 wia 1 dig s Ui w5 ug @ 2
(A) Tozm (smEs), sarfearn (FHamg), Joadi (3 IS9T)
(B) F2HE (Ficeh), T (Hifewm), Sl (INEE)
(C) ¥Rl (FEs), darfsar (Sdiag), Ty (nifsm)
(D) wg (anifeam), feyw (sms), serfeen (S<tamg)

123. In which direction the Aravalli range extends in Rajasthan ?

(A) South-East to North-West (B) North-West to South-East
(C) South-West to North-East (D) North-East to South-West
T i 3Raeft wdanen fha foon # faa 2 7

(A) efe-ud & sT-afvem (B) Iw-ufvam & efem-gd
(C) efem-ufan & -1 (D) IW-Yd ¥ gfervr-ufyam
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A

124,

126.

(86)
Match the following district and climatic regions :
District Climate region
(1) Jaisalmer (a) Extreme humid
(2) Jaipur (b) Humid
(3) Sawai Madhopur (¢) Semi-Humid
{(4) Jhalawar (d) Dry

mn @ G @
(A) (¢) (b) (@) (d)
(B) (d (c) (a) (b)
(C) @ (b)) () ()
(D) @ () b @
frafafiga 5l va setamg v w1 gufaa Hifs

foren AT T
(1) e (a) afa-a1m%
(2) FIE (by 3
(3) TS AT (c) IT-T%
(4) HielEls (d) 95=h

m 2 & &
(A) (¢) (b) (a) (d)
(B) (d) (¢) (a) (b)
(C) @ () () (a
(D) d) (c) (b) (a)

(1)  Chittorgarh — Rana Pratap Sagar Dam

(2)  Ajmer - Bisalpur Project

(3) Udaipur — Mansi Vakal Project

(4) Pratapgarh — Jakham Project

(A) (1. (3), (4) (B) (1),(2). (3)
(2), (3), (4 (D) (1), (2),(4)

ﬁwwqﬁﬁw%wflﬁﬁ‘ﬂ%ﬁﬁﬁﬁq FUT TE B 7

(1y Fasdtene — g yam arr |7y

(2) 3SR — SEeyE TR

(3) 3T — WE Arehet TRETAT

(4) WATTTE — ATEH URESE

(A) (1),(3), 4 (B) (1).(2),(3)

€y (2).0). 4 (D) (1), (2). 4D

[n which Crops Rajasthan is the top producer in India ?

(A) Mustard, Chickpea, Dewgram

(B) Psyllium husk, Cumin, Cluster bean

(C) Chickpea, Green gram, Black gram

(D) Green gram, Maize, Pearl Millet

fept el < IedTeH T TSR il Wd H IUH WH 8 7

(A) HTEI, T, 013 (B) $HENA, S, X

(C) =, 37T, 353 (D) T, 7FHI, SIS
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. Which of the following are correct statements with reference to district and projects ?
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127. During 2001-2011 Population growth rate of Ganganagar district is —

(A) 10.0% (B)Y 16.9%
(C) 325% (D) 213%
2001 & 2011 afy % SRH TR 5t 61 e afg T2 -
(A) 10.0 % (B) 16.9%
(C)y 325% (D) 21.3%
128. Which ruler of Mewar was given the name of “Vishamghati Panchanan’ ?
(A) Rana Hamir (B} Rana Lakha
(C) Rana Kumbha (D) Rana Udai Singh
“Tawrardt g=r" 61 w3 gare & e e w1 E e o 7
(A) T EdR (B) TIT STl
(C) Tum (D) TN eafdg
129. Who was the Maharana of Udaipur at the time of revolt of 1857 ?
(A) Jaswant Singh (B) Swaroop Singh
(C) Udai Singh (D) Ratan Singh
1857 =hl Fhifd o HHY I = HEAN HH & 7
(A) SHEqrdg (B) wEuRiE
(C) JeaféE (D) Tfdg
130. Where was the third session of “Rajputana Madhya Bharat Sabha” held ?
(A) Nagpur (B) Jaipur
(C) Ajmer (D) Delhi
“TIYQHT YA W 1" o e SAfee hal TR gan ¢
(A) A (B) S
(C) 3R (D) feeedt
131. Who was made the Prime Minister of Greater Rajasthan ?
(A) Haribhau Upadhyay (B) Gokulbhai Bhatt
(C) Hiralal Shastri (D) Tikaram Paliwal
“FEd TR % GUTEA fordt s e e 7
(A) &WTS 3T (B) TS Wg
(C) EUere v (D) dwR0H grefiare
132, Who is known as “Banasur ka Shaheed” ?
(A) Kesari Singh Barahath (B) Major Saitan Singh
(C) Pratap Singh Barahath (D) Havildar Major Piru Singh
“STITGR 1 &g AT H HH T TG Al 1 ST g 7
(A) iz anEs (B) TR damfhg
(C) werfHg srEs (D) FeeieR Hor refig
133. Who built Churu Fortin 1739 ?
(A) Jaswant Singh (B) Rai Singh
(C) Kalyanmal (D) Thakur Kushal Singh
% gt o famior 1739 3 fopwr sweamn 7
(A) VEHeAE (B) wafliE
(C) HeAmHA (D) 3 P g
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136.

137,

139.

140,

(88) PL-2
. Tulsi, Haalro, Timaniyan and pot ornaments are worn by women in which part of their
body ?
(A) Head (B) Neck
(C) Hand ' (D) Waist ‘ ,
derlt, grert, feforat aen dia wmes amyror afgensit gra it & S 8 W o g S € 7
(A) fm (B) T
(C) @™ (D) =
. Which Film has been made on the book “Duvidha” by Vijaydan Detha ?
(A) Mumal, Phulwari (B) Alekhu Hitler
(C) Duvidha, Paheli (D) Uljhan, Suljhan

farsragr Qo i e “gfasn” W i # feen 1 fai g g g
(A) o, Herdrd (B) iy feee

(C) g, ugedt (D) 3T, gAH

“Hela Khyal™ is a folk theatre from which region of Rajasthan ?

(A) Dausa (B) Bikaner

(C) Sikar (D) Barmer

“Bel BATE” AT I A1 USRI & I d 8 Fwafua 3 7

(A) <Hr (B) #iehrt

(C) it (D) WTEH

What is Patelya, Bichhiyo, Lalar, and Machar ?

(A) Famous songs of Mewar (B) Famous songs of Marwar

(C) Famous songs of Mewat (D) Famous songs of Hadoti

qow, sifedl, Ao 9 WET F S 7 -'E-%
(A) Hare % wfag fa (B) wHaTe % wfag i =F
(C) TamM  9fig 1ia (D) B % wfrg e

. “Social Science as a general term for all the sciences which are concerned with the human

affairs.” This is defined by https://www.pygonline.com

(A) Seligman (B) Mitchell

(C) Fairchild (D) Peter Lewis

“ra1taer fagm 3 wft ol & fofe o = v & w0 8 S 9Ee g O g6 lE @
Ig iy fepen o 2

(A) HelFTH g (B) T g

(C) HaTEEeS gol (D) e «ifem gr
Which of the following is an Audio — Aids ?

(A) Linguaphone (B) Over Head Projector (OHP)
(C) Epidiascope (D) Bulletin Board
e o 9 = ot o wmmh @ ¢

(A) Temarsm (B) 3ITeHES T

(C) Tt o =3 (D) qeifed g

Which one is not a type of project method given by Killpatrick ?
(A) Constructive Project (B) Destructive Project
(C) Problematic Project (D) Practice Project
S0 T |1 U feberifesh gra fean man aftErsn 1 ysr adi 2 ¢
(A) THTCHS Ui (B) fawawes gfersm
(C) GweaTeHh TR (D) 31vTd afEsT
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PL-2

141.

142,

143.

144,

(89)
Whe propounded the linear programmed instruction ?
(A) Norman A. Crowder (B) B.F. Skinner
(C) Thorndike (D) Thomas F. Gilbert
Tl Ffiskia sreeH 1 wiarea forea fon
(A) AT, FIIS (B) #1.ub. WhiT
(C) uHEE® (D) e us, fiead

Which one is not a limitation of assessment ?

(A) Lack of time

(B) More importance to the competition

(C) Conceptual error

(DY} Freedom from fear and stressful environment

T B W UF Tehe 6l T A 2 7

(A) wma <6t it (B) ufquout =i sifus new

(C) HeheuTen 3fe (D) 3 U FATEqUl 9ie | gfte

Which one 1s not prerequisite of lesson planning ?

(A) Knowledge of subject

(B) Knowledge of learner family background EEE
(C) Knowledge of child psychology [OFgs
(D) Knowledge of methods and techniques

HH H U UIS AT 1 qaiie TE 8 ¢

(A) fawasam (B) Aftrmaerat <61 arftante qusfl @1 4
(C) 9T THITEGSH &1 74 (D) faferar (foneqor) va ot =1 91

Which one of the following is correctly matched ?
(A) Socrates — Instruction method

(B) Plato — Questioning method

(C) Herbert Spencer — Dialectic method

(D) Aristotle — Deductive and Inductive method
fAdasR @ v o gufaa 8 7

(A) gud — fdee fafy

(B) w2l — yeAR fafy

(C) aad W= — gae fafy

(D) 3] — 3w 3 fmm fafy

. Which one is not a general objective of teaching of social studies ?

(A) Acquaintance with the environment

(B) Interest in socio-economic institutions

(C) Appreciation of cultural heritage

(D) Appreciation of caste system

i 91 Uk AHETfSeh e e am e A d v

(A) TRITER H 9fthd g (B)  mrfses - arifies weari § wfy
(C) WTeehpiaeh ot =i Ta (D) fe-wr i wwEn
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146.

147.

148.

149.

150.

(90) PL-2

How many steps are suggested for solving a problem ?

(A) 2 (B) 3

) 5 (D) 7

arer % qaraH & fore foram =wort o1 genra fear mn @ 7

(A) 2 (B) 3

) 5 (D) 7

From which layer of the atmosphere do radio waves come back ?
(A) Stratosphere (B) Mesosphere
(C) lonosphere (D) Exosphere
e adi argrise i fove w@ 9 amm i E 7

(A) THAM HSed (B) T HSdA
(C) A 7Ead (D) STE HeA

Which of the following cyclone is called water spouts in sea ?

(A) Typhoons (B} Hurricanes

(C)  Willy-Willies (D) Tornado

Tt 3 & fopg wrsheia b1 Ty W et &AW shadl @ 7 EEE
(A) 2RI (B) & BE
(C) facft-faehts (D) <RASI

Which of the following currents are cold currents ?

I.  Labrador current 2. Oyashio current
3. Benguela current 4. Alaska current
(A) 1,2.4 (B) 1,2,3

(C) 2.3,4 D) 1,3,4

fafafea s d g H @ S amd & ¢

|  oASER am 2. SArfiEr am

3. diuen g 4. IFAcTEH] U
(A) 1,2.4 (B) 1,2,3

(C) 2,3,4 (D) 1,3,4

During the time of perigee the tidal range is —

(A) Equal to normal (B) Less than normal

(C) Greater than normal (D) None of these

3UY % FHY SANA H gl 8 —

(A) T % St (B) ®MHEI ¥ FH

(C) @4 sfers (D) 3 @ wis 4
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(96) PL-2
INSTRUCTIONS / fadm
(Read carefully and comply / &R & 93 3 rem =i)
IMPORTANT / wrererqei

[

[

. In Section 11 (Language-l) a candidate has to attempt the questions of the language which the candidate has selected as Language-1in the
I Section HIGT anguage-11) a candidate has 1o akcmpt the |.|ug_-.l.iun-. of the language w hich the candidate has selected as Language-1i in the

. The candidate must ensure that the Question Booklet Series Code and Shift No. has been filled correctly at the preseribed place in the

. The candidate has to answer of that subject in \suuml { I\ .J} Mathematics and Science or (1V b} Social Studics as sclected by the candidate

Online Applicatipn
b e I R

n. I . PR - - - =
AT W F B e A 2w oamn moSaw et 3 owm [ F B9 8 A aaea-ma § e 2

=11 will be different from Language-L
o1 safererme s Fa AT A o A A - 1 A e A -1 i fEm R - s - Enh o

Online Application Form, The Langu
AU UL AT 1) B FH S e e

OMR Answer Sheet, Your OMR Answer Sheet will be evaluated on the basis of Question Booklet Series Code and Shift No., not
Question Booklet '\umber
st

g e Mnsﬁzwﬁarfﬁawﬁmnm i =13 vg iz AT st OMR o2 1 qFuisT
TR mmrg afeF aEm- mﬁ'mmww@m Eﬂfl &1

in the Online Applicaton Form.

If a candidate answers the questions of EhL language or subject other than selected in the Online Application Form, the candidate shall be
personally responsible_for it and it wo |I h.l .m,.j}.u wrong, o

e = 3| WE-TE F avE n'a} a1 (v by amtrE s § 3 fwg & we @ e aen 2, e fam s et
A e aWem-aa 7 femn . o ) _ _
iz werdi aTaE m-ww:mﬁﬂmmﬁmfﬁwmzﬂmqmdmhwiﬁummmm%maﬁ werdi 1w F fEEm

(]

1),

TR AHT Teld HAT AT |
Read complete instructions carefully and fill the details from SL No. | to 7 in the OMR Answer Sheet and 51 No. 1 to 4 in the Question
Booklet. If yvou fail to fill the details and sign as instructed coreectly, vou will be persanally responsible for the consequences arising during
scanning of vour {}\IHAJ]‘-\L&I Sheet.
fun =1 quf w0 & saaaET E A FEE 87 7 OMR ¥R w0 R g 7% vea-giem (FEee) 1 oad | afz am rem a6F § faam
ﬂmmﬁﬂmém(}fﬂkm?tﬁlwﬁﬂawmmwmmwﬁ AT T A B |
The l)m,»‘uc:n Baooklet l,nm]msgs\‘]'ﬁ Pages hay ||]g_ 150 quc'.tican\_ After hcing instructed 1o open the Booklet, only then the candidates will apen
the Question Booklet scals. Check whether the Booklet contains 150 questions starting from Page No. 3 1o 90 The Shift Number required in
OME Sheet will be as per admit card |\-uul o the candidate and also mentiongd un 1hg top of llu Question Booklet.
wsA-iETF] 7 96 98 T 150 Wi § | G .er‘fﬂ‘mTWPWH &1 #@ g | a8 _vF'IT"-'-‘J-;T‘?IﬁT-FFI'HHU
usa 3 S T UW W 3 f 0w ';0 g% ¥ | OMR stz w fargz ma -mm A (59 T T F s i wen & vg A
WA - UfEAT & S AW W oA T g 2
All questions are of MCQ (Multipte Choice Question) type. There is only one correct answer to each question carrying ene mark. There
will be no negative marking for wrong answers.
n‘mva-rrwfawq-ramwr | S A v fawe B wd ¥ | wew e T T it dwem # | e e ol werrer ofmn w Fisd i |
All (|u-.~l|0|l- other_ than language 1||u~st|un- of Sections 11 and 111 shall be hlill’l'j.l.ldl
WyA-T % AT wex [ ww 111 % Al 3 91 | WIS T WEA Faul
Inany event of any 111[_'1].'l|\<.'\ inany guestion's, candidates will not be penalized. However ng corrections will be made in question's durmg the examination.
vy 1 Tt s = ford a1 Tedt wepme = et =128 =2m ) e = i1 3 AT 8 T WeRT o AT A AT A |
Rough work, if any, may be done in the Question Booklet only in the space provided at the end of the Booklet, Do not tear it off from the
m.-.lull'l Rooklet, No additiopal paper shall be provided.
1 WoFTE O TF T4 2 WA -1 A 8 e A W 2 | 7 e - @ A e, | Famft s Ao s saeen wd e |
Use of Log tables, Caleulator, Slide rule, Maobile phone, Pager, Digital diary, Bluctooth, Microphone or any other electronic itemiinstrument
ete. 1s not allowed. Their use will result in disqualjfics nlon . L. . i
P P, FeFgeed, T T, AEES T, 4, I, ey, WEEEE M fEh g vER @ il 39 4 a w owEm atie
?l?ﬂtﬁ—mq—ﬁ.nq:ﬂmtrrfﬁhmmm?l )
OMR Answer Sh a8 will be prov ti-s.cl along with Question Booklet separately,
OMR T2 9 - & |14 WET & AT |
The Chuestion [3m1k||.‘l will be I‘-‘-lILd to the candidates 10 minutes before the start of examination and the candidate must fill all entries in OMR
AnswerSheet. The Question Bookletscal shall beopened S minutesbefore the start of examinationand the candidate must Gl 1 tod entries correetly
on the Question Booklet, Afteropening the Question Booklet, ensurc that any page/ question is not missing / not printed /torm / repeated. In case,
vou find any defect !11'\.'\.\|1=_|L in the Quu.tltrn Booklet, immediately inform the 1n'.|~!|l vorand get it IL|'I! wed within 5 minuics h\ the |n\1"l| WO,
Warning Bell will ring at 5 minutes before eloser of examination and the last long bell will ring at closer of examination.
sl 1 WA -YTEAE] T s B F 10 A 9d AT | A AEyEE ' A OMR iz § A qfafLem T AT WEE AW | WA
qfere i @ T e F <F:a-|-.'~:rq‘?§1‘r=r=1'm:rqm | 4'.ﬁwﬁ|1??a‘r TE T A |m‘r-qﬁ=ﬂnm?-rl:rqaﬁq'ﬁmmm
a4z qiiswa # 5 Zaw_feifs aam 9 8 'FI"‘;IFI?, AT A 2 PE QW # AT Wel A1 A9 ¢ A e AR A2 T2 | Al g
1Erﬁr—r ?ﬂﬂfﬂﬁ?#ﬁ'mﬁqmmnr—r T W | SAE g
anﬁ?%fﬂ'ﬁqimmnﬁ'ﬁ aﬁqﬁhnmﬁwwm
Write your Name, Exq im Center Code, Signature, Roll No., Question Booklet Sernies Code, Shift Number and Question Paper Booklet Number
in the space provided in_the Question Booklet as well as in_the OMR Answer Sheet.
aa-qﬁ%ﬂ Trrl}n\m mztr?hﬂf? TIA W AR, W F F FIE, s, A, v -1 @i e, firee s w na giam
With h qucaliurl vou will find 4 |'iil'|hl.hll_' answers marked 15} the letiers A, B, O & 1D, Read each qucmitm C:ll'l_'rl]”}' and find out which
answer, according to you is correct. Indicate vour answer by darkening the appropriate circle completely in the OMR Answer Sheet comesponding
to the question. For m.Lerg_ ANSWERS USC b]llt black ballpoint pen only. Gel pens/peneils are_not allowed.
Wl WA 3 TR g I A, HLHI)'E]L"'_-I' ?|'FI'GT'HLWFH'H?T_*RWWF_HEF_'REHU\]Ruﬁfq'ﬂ'ﬁ'ﬁ"ﬂﬁ;’lmmﬁq1
ZFA T3 1 TR F I AT | R f‘#: H1@ W FR i w09 f I w ) FemaniFae s gmmmatiag
WRONG ( mrewr WROMNE ey WRONG S wyee

[ orTee! \.I-;‘.|'.t'|.| CORRECT /i W rong ‘\1(.'Ihll|| WRONG /e
T coCoe| ™M WOQO||log0o||lcono||ce0e

OM R Answer Sheet isdesigned for computer evaluation. Ifvou do not Follow the instructions given above and at the backside of the OMR Answer
Sheet, it may make cvaluation by computer difficult. Any resultant loss to the candidate on the above account shall be of the candidate only.
OM R e 1 Forezs GRT T & ford S v 2 136 s s v OM R iz 5 free: e w s fasi o arem i e, ot seges g sirve
AT A 21 AT |mmqqﬁﬂn°ﬁﬂmwwﬁhwaﬁcﬂ'ﬁmﬁ=m|

No candidate should leave the examination hall before the final bell. The OMR Answer Sheet is carbonless in duplicate having perforation on the
left side. Candidate should detach carefully the Original Copy from the Candidate’s Copy { Duplicate) so that the Oniginal Copy is not mutilated
inany way. Candidate should handover the Original OMR ('np\ and Question Booklet to the invigilator betore leaving the examination hall.
Candidate can carry only the Candidate \O\Il-lcup\ with him/her. Quullun Baoklet is not allowed to h-. taken by the candidate.

o gl w98 T & 9l Wea F9 F a1 T8 o sk | OMR site Fen ea aan ey afm 2 s ardl s wownee R
BATR | mmmtmaarﬂmﬁﬂﬁiaﬁﬁh:qqguﬁmm o 3 AT el ) A 3 0w Wi A A T A TEa | e e
e T‘ et r)\m ﬁpg ufd v we-qieeE e oA g | et Fee wrh OMR w9 R me o W W | meA -
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